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Question Key Details :
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Comprehension MCQ

s collegedunia:
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Silicon doped with electron elements of group-13 forms.

1. Conductor

2. Intrinsic semiconductor

Ead

. p-type semi conductor
4. n-type semi conductor

Options :

485584143061. 1
485584143062. 2
485584143063. 3
485584143064. 4

Question Number : 1 Question Id : 48558435766 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
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Correct Marks : 5 Wrong Marks : 1
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1-13 & ddl H Sadg 9 gad (i saifid s3d g dl a1 s |

1. A®
2. 9% HefaraE
3. p-UBR & daTa®

4, n-UPR & AT

Options :

485584143061. 1
485584143062. 2
485584143063. 3
485584143064. 4

Question Number : 2 Question Id : 48558435767 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
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2 F'ffl

Atoms of element B form hep lattice and those of the element A occupy = of octahedral voids. What 1s the

tormula of the compound formed by the element A and B?
1. AB,
2.AB,

.AB

L#¥]

4. AB;

Options :

485584143065. 1
485584143066. 2
485584143067. 3
485584143068. 4

Question Number : 2 Question Id : 48558435767 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
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Correct Marks : 5 Wrong Marks : 1
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1. A;B,

.A,B;

2

3.AB

s

. A,B;s

Options :

485584143065. 1
485584143066. 2
485584143067. 3
485584143068. 4

Question Number : 3 Question Id : 48558435768 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
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Which of the following 1s more reliable ?

—

. % (wiv)

|

. Molarity (M)

L]

. Molality (m)

iy

. Strength (S)

Options :

485584143069. 1
485584143070. 2
485584143071.3
485584143072. 4

Question Number : 3 Question Id : 48558435768 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
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Value

Comprehension
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fFafafad § SH- uidy sifte 3fa g2

1. % (wiv)

2. HieRdl (M)

3. Hiddd (m)

4. ¥&ddi(s)
Options :
485584143069. 1
485584143070. 2

485584143071. 3
485584143072. 4
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Matech List I with List IT

LISTI LISTII
A [K550y,(ag) with 60 % dissociation I li=37
B. [K;[Fe(CN)gl(aq) with 90% dissociation Ili=18
C. |JAL1C1; (ag) with 80% dissociation nrli=22
D. [K;Hgl, (ag) with 40% dissociation IV]i=34

Choose the correct answer from the options given below:

1. A-III. B-1. C-II, D-IV
2. A-I. B-IIL C-IV, D-II
3. A-TIL. B-I. C-II. D-IV
4. A1, B-I. C-IV. D-II

Options :

485584143073. 1

485584143074. 2

485584143075. 3
485584143076. 4

Question Number : 4 Question Id : 48558435769 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1
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B. [Sicild K;[Fe(CN)g] BT 90% fauc| I |i=18
C. [Sieilg A1C1; T 80% fdge I |i=22
D. [Fdld K, Hel, ®l40% fdded  [1vi|i=34
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1. A-ITT. B-L. C-I1, D-IV

| )

AL BHIIL C-IV, D-II

AL B-IL C-IL. D-IV

L@ ]

4. AL B-1, C-IV. D-IT

Options :
485584143073. 1
485584143074. 2

-
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485584143075. 3
485584143076. 4
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Correct Marks : 5 Wrong Marks : 1
Question Key Details :
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Calculate the mass of urea (NH,CONH,) required in making 2.5 kg of 0.25 molal aqueous solution.

1.36.95 g

| )

.375¢

4.3595¢

Options :

485584143077. 1
485584143078. 2
485584143079. 3
485584143080. 4

Question Number : 5 Question Id : 48558435770 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ
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Options :

485584143077. 1
485584143078. 2
485584143079. 3
485584143080. 4

Question Number : 6 Question Id : 48558435771 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Correct Marks : 5 Wrong Marks : 1
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Comprehension
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Decreasing order of reducing power of the given species as per their standard reduction potential 1s :

Choose the correct answer from the options given below:

A 236
B.+0.54
C.+1.23
D.—-0.74
E.+1.81

1LA>D>E>B>C

22A>D>B>C>E

E=C>=A>=B>D

Lad

4. E=C=B>=D=A

Options :

485584143081. 1
485584143082. 2
485584143083. 3
485584143084. 4

Question Number : 6 Question Id : 48558435771 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1
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A 236
B. +0.54
551723
D.-0.74
E. = 1.81

1.LAD>=E>B=>C

22.A>D>=B>C=E

3JEFC=A=B=D

4 E>C>B>D>A

Options :

collegedunia:



485584143081. 1
485584143082. 2
485584143083. 3
485584143084. 4

Question Number : 7 Question Id : 48558435772 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :
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A solution of CuSOy 1s electrolysed for 10 min with a current of 1.5 A. What 1s the mass of copper deposited
at the cathode (molar mass of Cu=63 g) (1F = 96487¢).

1.
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Options :

485584143085. 1
485584143086. 2
485584143087.3
485584143088. 4

Question Number : 7 Question Id : 48558435772 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
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Options :

485584143085. 1
485584143086. 2
485584143087.3
485584143088. 4
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Question Number : 8 Question Id : 48558435773 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
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For the cell: Ni (s) | Ni2™ (0. 1M) || Cu?™ (0.1M) | Cufs) the cell potential will increase when.

iy

1. Ni*" ion concentration is increased

| ]

N i . .
. Cu”" 1on concentration 1s decreased

i . -
3. Cu" 1on concentration is inereased
4. Temperature of the cell is decreased

Options :

485584143089. 1
485584143090. 2
485584143091. 3
485584143092. 4

Question Number : 8 Question Id : 48558435773 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
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Options :

485584143089. 1
485584143090. 2
485584143091. 3
485584143092. 4

Question Number : 9 Question Id : 48558435774 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
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Key Value
Comprehension MCQ

A first order reaction is found to have a rate constant, k= 5.5 x 10 "' 57!, Find the half life of the reaction.

1. ty, =0.693
2t ,=55%x102 s
B
3 t%=2.303x1013s
i t%=l.26x10133
Options :

485584143093. 1
485584143094. 2
485584143095. 3
485584143096. 4

Question Number : 9 Question Id : 48558435774 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
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Correct Marks : 5 Wrong Marks : 1
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1. ty, =0.693s
2 t,,=55x10"% ¢
Y
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Options :

485584143093. 1
485584143094. 2
485584143095. 3
485584143096. 4

Question Number : 10 Question Id : 48558435775 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
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Correct Marks : 5 Wrong Marks : 1
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|Comprehension IMCQ

In the below given hypothetical equation

r=k[A]"[B]Y
If the concentration of [B] 1s kept constant and concentration of [A] 1s increased to 3 times, the reaction rate
increases 27 times, then the order of reaction with respect to A 1s

1.3

22

4.0

Options :

485584143097. 1
485584143098. 2
485584143099. 3
485584143100. 4

Question Number : 10 Question Id : 48558435775 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
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Correct Marks : 5 Wrong Marks : 1
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HafRad Seaf-1e THie

r=K[AJ [B] ¥
T ¢ [B] &1 Wigal R 3R [A] BT Figal oiF 1 §¢T af ST a1 9¥ FRURI 27 T[T 81 SIE, S &1
Hife A & U T -

1.3

| S

2

L S]
—

4.0

Options :

485584143097. 1
485584143098. 2
485584143099. 3
485584143100. 4

Question Number : 11 Question Id : 48558435776 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
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A graph is plotted between Ink and L , what 1s the value of slope?
T

1. Slope = L
R
2. Slope = =i
R
3. Slope = k
R
4. Slope = =
R

Options :

485584143101. 1
485584143102. 2
485584143103.3
485584143104. 4

Question Number : 11 Question Id : 48558435776 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
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1.g=E
R
2. gl = “Ea
R
3.9 =k
R
4.gE= X
R
Options :

485584143101. 1
485584143102. 2
485584143103. 3
485584143104. 4

Question Number : 12 Question Id : 48558435777 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
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Correct Marks : 5 Wrong Marks : 1
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Ore of copper is

1. Malachite

| )

. Magnetite
3. Cryolite
4. Calamine

Options :

485584143105. 1
485584143106. 2
485584143107.3
485584143108. 4

Question Number : 12 Question Id : 48558435777 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
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2 fi;'l?'!a 2C
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Options :
485584143105. 1
485584143106. 2

485584143107. 3
485584143108. 4
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Zone refining 1s based on the principle that

L. Impurities of low boiling point metals can be separated by distillation
2. Impurities are more soluble in molten metal than i solid metal
3. Vapours of volatile compounds can be decomposed to give pure metal
4. Different component can be absorbed differently on a adsorbant

Options :

485584143109. 1

485584143110. 2

485584143111. 3
485584143112. 4

Question Number : 13 Question Id : 48558435778 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
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Options :

485584143109. 1

485584143110.2

485584143111. 3
485584143112. 4

Question Number : 14 Question Id : 48558435779 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
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The strongest oxidising and reducing agents respectively are,

1.LF,andI

| ]

.Bryand CI”

L ¥]

. Cl, and Br
4.Cl, and I,

Options :

485584143113. 1
485584143114.2
485584143115. 3
485584143116. 4

Question Number : 14 Question Id : 48558435779 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
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Correct Marks : 5 Wrong Marks : 1
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Uad HFHIPRD U4 HII0H HH: © -

1.F, 3R T

2. Br, SR CI7

3.Cl, AR Br™

4.ClL, 3R,
Options :
485584143113. 1
485584143114.2

485584143115.3
485584143116. 4
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What 1s basicity of H;POy

[
(3]

La
L5

4.5

Options :

485584143117. 1
485584143118.2
485584143119. 3
485584143120. 4
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H;PO, I 4R 1§ 2

[
[

Lad
LFN]

4.

Lh

Options :

485584143117. 1
485584143118.2
485584143119. 3
485584143120. 4
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Identify the correct statement(s).

A Fluorine 1s a stronger oxidising agent than chlorine.
B. Sulphur in vapour state shows paramagnetic behavior.

C. H,S 1s more acidic than H,Te.

D. Fluorine form two oxoacids HOF, HOFO.

Choose the correct answer from the options given below:

1. Aand B only
2. B and C only
3.A.B.C.Donly
4. A and C only
Options :
485584143121. 1
485584143122. 2

485584143123. 3
485584143124. 4

Question Number : 16 Question Id : 48558435781 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
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1. $dd A 3R B
2. PadB AR C
3.Hdd A, B. C 3R D
4. PAAAARC
Options :
485584143121. 1
485584143122.2

485584143123. 3
485584143124. 4
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Which 15 best description of behavior of bromine in the reaction given below?

H,0 + Br, — HBr “HOBr

1. Proton accepted only

[

. Both oxidised and Reduced

LN ]

. Oxadised only
4. Reduced only

Options :

485584143125. 1
485584143126.2
485584143127.3
485584143128. 4

Question Number : 17 Question Id : 48558435782 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
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H>0 + Brz — HBr +HOBr
.o We !

. SHiqdipd R 9=t Sl
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4. Sad AIARAT

Options :

485584143125 1
485584143126. 2
485584143127.3
485584143128. 4
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Question Number : 18 Question Id : 48558435783 Question Type : MCQ Option Shuffling : No [~ M r-réfom Momdndon .
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Which of the following ionic species has the greatest proton affinity to form stable compound ?

1. HS

2. NH,

3.F

4.1

Options :

485584143129. 1
485584143130. 2
485584143131.3
485584143132. 4
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Options :

485584143129. 1
485584143130.2
485584143131.3
485584143132. 4
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Which one of the following characteristics of the transition metals 1s associated with their catalytic

property/activity 7
1. colour of hydrated 1on
2. variable oxidation states
3. high enthalpy of atomisation
4. paramagnetic behaviour
Options :
485584143133. 1
485584143134.2

485584143135.3
485584143136. 4

Question Number : 19 Question Id : 48558435784 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
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Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ

[FrfeRad O o -9 Sifireaon SpHul urgsl ©1 3ok &Hdl I Saiid ¢ 2

1. 1SS 3T BT T
2. afadf sfadiewor sEwn
3. 3 HUF Tl

4. TS UPid

Options :

485584143133. 1
485584143134.2
485584143135. 3
485584143136. 4

Question Number : 20 Question Id : 48558435785 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ

collegedunia:



The aqueous solution containing which one of the following 1ons will be colourless (Atomic number of
Sc=21.Fe=26,Ti=22, Mn=25)

1. 8¢5

[

. Fe®

T

L]

4, Mn2"

Options :

485584143137. 1
485584143138.2
485584143139.3
485584143140. 4

Question Number : 20 Question Id : 48558435785 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

EXAG o g U ?( .- Sc = 21. Fe = 26, Ti= 22, Mn = 25
ﬁf[{mf{ ST | fohTaT Siag [dea= JMelH g 2 (YRHETY] TRST:- S 1,Fe=26.Ti=22, Mn=25)

1. 87T

g N

2. Fe?
3. Ti>t

4, M2t

Options :

485584143137. 1
485584143138. 2
485584143139.3
485584143140. 4

Question Number : 21 Question Id : 48558435786 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

collegedunia:




Matech List I with List IT

LISTI LISTII
A [EMnO, I. |Orange
B. [K;Cr O II. |Green
C. [K5CrOy III. [Yellow
D. [K;MnO, IV [Purple

Choose the correct answer from the options given below:

1. A-IL B-III, C-I. D-IV

2. A-IV, B-IIL. C-II. D-I

3. A-IV. B-III, C-1, D-II

4. A-IV, B-I. C-III. D-II

Options :

485584143141. 1
485584143142.2
485584143143.3
485584143144. 4

Question Number : 21 Question Id : 48558435786 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ
= 1 BT G 11 B F1Y [ Sifey
1 Gl
A. [KMnOy I [
B. [K;Cr;04 IL. Je+T
C [K;Cr0, 111 [dTar
D. [K;MnO, IV, [T
FfeRad fdeeal H O el 3R &1 994 SIfulu

1. A-II, B-III. C-1. D-IV

2. A-IV, B-II1, C-IIL, D-I

Lad

CA-IV, B-II1, C-1, D-II

4. A-IV, B-I, C-II1, D-II

Options :
485584143141. 1
485584143142.2

-

s collegedunia:



485584143143. 3
485584143144. 4

Question Number : 22 Question Id : 48558435787 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key

Value

Comprehension

MCQ

Match Last I with List IT

LISTI LISTII
A g2t I saBM
B. [N:i2* II. |0.00BM
C. b2t 11 |4 90BM
D. [7n®" IV. [5.92BM

Choose the correct answer from the options given below:

1. A-L B-II. C-III. D-IV

| ]

CA-L B-IILL C-IT. D-IV

3. AL B-IL C-IV., D-II

4, AL, B-IV, C-1, D-II

Options :

485584143145. 1
485584143146. 2
485584143147.3
485584143148. 4

Question Number : 22 Question Id : 48558435787 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key

Value

Comprehension

MCQ

-

s collegedunia:



=1 1 BT YA 11 B 1Y [T $lisy

A 1 T 1
A e I. 2.84BM
B. Ni2T II. 0.00BM
C. M2t III. 4 90BM
Dz IV |5.92BM
FafRad faeedl 1§ 9 el SR &1 99 Bifel

1. A-I. B-II. C-IIT, D-IV

| S

ad

CA-TLBHIIL C-IIL D-IV

CACIITL B-IL C-IV, D-II

4. A-IIIL B-IV, C-1. D-II

Options :

485584143145. 1
485584143146.2
485584143147.3
485584143148. 4

Question Number : 23 Question Id : 48558435788 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key

Value

Comprehension

MCQ

Which of the complexes give white ppt when treated with aqueous solution of BaCl,?

C. [Co(NH;3)s (NO,)](NO,),

D. [Co(NH;)5 CN] SO,

Choose the correct answer from the options given below:

1. B. C only

[

.B. D only
3.A. Conly
4. A. C.D only
Options :
485584143149. 1

485584143150. 2
485584143151.3

collegedunia:



485584143152. 4

Question Number : 23 Question Id : 48558435788 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

[FafiRad § $H-3 W5 d, BaCl, & Sd g (a0 & 1Y Ttha Saad &l ?

B. [CD(N}IS)SCI]CJOq_
C. [Co(NH;)5 (NO,)J(NO,),
D. [Co(NH;)5 CN] SO,

Faferad el 9 1 Uel Stk & 999 Sieg

1. $gaB AR C

2. Hadd B AR D

3. PAad AR C

4, PaTA, C IR D
Options :
485584143149, 1
485584143150. 2

485584143151.3
485584143152. 4

Question Number : 24 Question Id : 48558435789 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

collegedunia:



Matech List I with List IT

LISTI i TIST 1
C d Oxidation Number
IR of Cobalt
A. [Co(NH)5(NCS)I(SO3) 1. |4
B. [[Co(NH;3)4Cl1;]50, 1o
C. [Nag[Co(5,05)5] 1L 2
D. [[Cos (COg] IV. 13

Choose the correct answer from the options given below:

1.

2

3.

4.

Options :

485584143153. 1
485584143154.2
485584143155.3
485584143156. 4

A-T. B-IL, C-IV, D-III

CA-IV, B-1I1, C-II., D-1

A-TV. B-1, C-III, D-I1

A-TV, B-II, C-IIT, D-I

Question Number : 24 Question Id : 48558435789 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
AT 1B 18 TY e e
1l
bl PraTee F AT
=
A [[Co(NH3)s(NCS)](SO3) | 1. |4
B. [[Co(NH;3)4C1;]50, I [0
C. Nay[Co(5;05)5] IIL |2
D_ J[Coy (COJ] IV |3
FafaRad [deedl § 9 T8l 3R &1 999 iU
1. A-I, B-I1, C-IV. D-III
2. A-IV, B-III, C-II, D-I
3. A-IV, B-I. C-III, D-II
4. A-1V, B-II, C-III, D-I

Qcollegedunia;

-



Options :

485584143153. 1
485584143154.2
485584143155.3
485584143156. 4

Question Number : 25 Question Id : 48558435790 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ

The inereasing order of magnetic behaviour for following complex is

A, [Ti(H,0)]*"
B. [V(H,0)s]’"
C. [MnCl,]*~
D. [MnFg]*~
E. [Cr(H,0)4]*"

Choose the correct answer from the options given below:

lLA<B=<C<D<E

| -]

_E<D<C<B<A
3.D<A<B<C<E
4, A<B<E<D<C

Options :

485584143157. 1
485584143158.2
485584143159. 3
485584143160. 4

Question Number : 25 Question Id : 48558435790 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ

collegedunia:



fFrafaRad dodl @1 Jra@id Ugiadl $1 dgdl PH © -

A. [Ti(H,0)s]*"
B. [V(H,0)sI**
C. [MnCL >~
D. [MnF¢]*~
E. [Cr(H,0)6]""

fFafirad fdeedl § 9 el SR &1 99 Sifolg

l1.LA<B=<C<D<E

-

3. D<A<B<C<E

4. A<B<E<D=<C

Options :

485584143157. 1
485584143158. 2
485584143159.3
485584143160. 4

E<D<C<B<A

Question Number : 26 Question Id : 48558435791 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key

Value

Comprehension

MCQ

Grignard reagent should be prepared under anhydrous condition because

L. carbon - Mg bond is not highly polar

| )

. Mg-X bond 1s essentially covalent

3. It reacts with proton of water to form HX

4. Tt reacts with H,O to form alkane

Options :

485584143161. 1
485584143162. 2
485584143163.3
485584143164. 4

Question Number : 26 Question Id : 48558435791 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

collegedunia:



Key Value

Comprehension MCQ

UHIR sfiyepte &1 Foia i siaw H a1 9oy Fifh
1. BTa-IRE ey sifie ydta T8t )
2. Mg-X @Y a2 ¥4 § Fg-Hait g1
3. T8 Ofd (U & WIS 9 AU dl B Hx ST &
4. T8 U & 91y fifear &3 Ueh aardT ¢

Options :

485584143161. 1
485584143162.2
485584143163.3
485584143164. 4

Question Number : 27 Question Id : 48558435792 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

What will be the product of the following reaction:

1. C4H<COC,H;

| ]

. CgH50C,H

Lad

. CgH;0C,H,CI
4. C,H;0C,H;

Options :

485584143165. 1
485584143166. 2
485584143167.3
485584143168. 4

Question Number : 27 Question Id : 48558435792 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

collegedunia:



& TS AP &1 IS T BT

1. CgH;COC,H;

[ ]

. CgH-0C,H;

LS

. C¢H.0C,H,Cl
4. C,H;0C,H;

Options :

485584143165. 1
485584143166. 2
485584143167.3
485584143168. 4

Question Number : 28 Question Id : 48558435793 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Allyl chloride on dehydrochlorination gives :

1. Propadiene

| )

. Propylene
3. Alkyl alcohol

4. Acetyl chloride

Options :

485584143169. 1
485584143170. 2
485584143171. 3
485584143172. 4

Question Number : 28 Question Id : 48558435793 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

collegedunia:



Ufee FaRES [AEEgaaRIe R Wikl & SWRId &l § |

1. WOT8Esa
2. JiarsdE
3. Ufchd Uedhisa
4. Uffed aeirIgs

Options :

485584143169. 1

485584143170. 2

485584143171. 3
485584143172. 4

Question Number : 29 Question Id : 48558435794 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

Arrange the following sets of compounds in order of their inereasing boiling points.

A. Pentan-1-ol
B. Butan-1-ol
C. Butan-2-ol
D. Ethanol

E. Propan-1-ol

Choose the correct answer from the options given below:

1LA<B<C<D<E

| )

.B<C<D<E<A
3.C<D<E<A<B
4. D<E<C<B<A

Options :

485584143173. 1
485584143174. 2
485584143175.3
485584143176. 4

Question Number : 29 Question Id : 48558435794 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :
|Key Value

collegedunia:




|C0mprehension |MCQ

frafaiaa oifiel o1 3% HYTE & dgd o J ogareyd HIfwu|

A. Ug-1-30Td
B. &c-1-31d
C. SYCH-2-3Td
D. UYAId

E. TI0A-1-2{fdl
FFafaRad [doedl § 9 T8l 3R &1 999 S

1.L.A<B<C<D<E

| B

.B=<C=D<E<A
J.JC<D<E<A<B
4. D<E<C<B<A

Options :

485584143173. 1
485584143174.2
485584143175. 3
485584143176. 4

Question Number : 30 Question Id : 48558435795 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

Monochlorination of toulene in sunlight followed by hydrolysis with ag NaOH yields.

1. o-Cresol

|

. m-Cresol
3. 2.4-Dihydroxytoulene
4. Benzylalcohal

Options :

485584143177. 1
485584143178. 2
485584143179.3
485584143180. 4

Question Number : 30 Question Id : 48558435795 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

collegedunia:




Key Value
Comprehension MCQ

CIqe 1 g4 & UHTRI § Uhd FaRIPHl, [t SIeiT NaOH & T1Y wdl Side- Janiad @idl 8
1. o-ToP T
. - aSEI‘Jﬁ

[

3. 2.4-SIZEESIRICIde

4. df-<57d Uehlegd

Options :

485584143177. 1
485584143178. 2
485584143179. 3
485584143180. 4

Question Number : 31 Question Id : 48558435796 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

When phenol 1s treated with chloroform m the presence of NaOH. the major product formed 1s ?

1. 2-Hydroxybenzoic acid

|

. Anisole

LIPS ]

. Salicyaldehyde
4. Methoxy - toluene

Options :

485584143181. 1
485584143182. 2
485584143183.3
485584143184. 4

Question Number : 31 Question Id : 48558435796 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

collegedunia:




oid [Wh-Ild NaOH B Jufufd & FaRIeE & 91y ifiygd fohan SiTaT € 3 - aTe 997 3dTe o 17T ?

[—

| B}

ofara
. dfefesess
fuTett-Teea

Options :

485584143181. 1
485584143182.2
485584143183.3
485584143184. 4

L S]

i

2-BISSlay! dwollgd 3T

Question Number : 32 Question Id : 48558435797 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ
Match List I with List IT
LISTI LIST IT
A, HCL- ZnCl, I. |Reducing agent
B. [LiAlH, II. |Grignard reagent]
C. |PCC II1. |Oxidising agent
D.

Ethv] magnesium bromide

IV

[ucas reagent

Choose the correct answer from the options given below:

1. A-IT. B-III., C-IV, D-I
2. ATV, B-1I. C-II1, D-1
3. A-IV. B-1, C-I11. D-II
4. ATV, B-ITI. C-1. D-II
Options :
485584143185. 1
485584143186. 2

485584143187. 3
485584143188. 4

Question Number : 32 Question Id : 48558435797 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks :

Question Key Details :

1

|Key

Value

-

s collegedunia:



|C0mprehension |MCQ

I 1 BT G 11 e pifore
AT I Tt 11

HCl - ZnCl> I |srams
LiATH 1. (=R siusas
h e IIL |3fiedipe

LT HEiREE gEEs | V. [OeN diiehe

FrgfaRad [deeal § U 9gl 3R &l 98- HIfolu -

1. A-IL. B-III. C-IV. D-I

glo|wf=

| R

CA-TV, B-ITL C-ITTL D-I

CA-IV, B-1, C-III, D-II

L S]

4. A-IV. B-III. C-1. D-II

Options :

485584143185. 1
485584143186. 2
485584143187.3
485584143188. 4

Question Number : 33 Question Id : 48558435798 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

Arrange the following three compounds in order of decreasing acidity.

+ - +
NH, NH, NH,
(A) ()

NO, CH,
(B)

1.B=A=C

| ]

B>C>A
3.C>B>A
4. C>=A>B

Options :

485584143189. 1
485584143190. 2

collegedunia:




485584143191. 3
485584143192. 4

Question Number : 33 Question Id : 48558435798 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ

frgfeaa diF Tiffies! &1 39! ofdal & Ued H § aIaied Sifo

5 NH,
Sk
(A) ﬂ?-l ()
1.B>A>C
2B>C=A
3. C>B=A
4. C>A>B
Options :

485584143189. 1
485584143190. 2
485584143191. 3
485584143192. 4

Question Number : 34 Question Id : 48558435799 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ

Reaction of nitrous acid with aliphatic primary amine in cold gives.

1. A diazonum salt

| )

. An alcohol
3. A nifrite
4. A dye
Options :

485584143193. 1
485584143194.2

collegedunia:



485584143195. 3
485584143196. 4

Question Number : 34 Question Id : 48558435799 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

Sy 3F P Uferbied WS UTHA & T1Y g s | i o R U giai g
1. U STeUaa daul
2. TP UePled
3. T A5gTEe

4. T® 9D

Options :

485584143193. 1
485584143194. 2
485584143195.3
485584143196. 4

Question Number : 35 Question Id : 48558435800 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

Amline upon heating with cone. HNO; and concentrated H, SO, mixture gives.

1. 0- and p-nitroaniline

| )

. o-Nitroaniline
3. Black terry mass
4, 2.4.6 —trinitroaniline

Options :

485584143197. 1
485584143198. 2
485584143199. 3
485584143200. 4

Question Number : 35 Question Id : 48558435800 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

collegedunia:




Question Key Details :

Key Value

Comprehension MCQ

UFE HNO; 3R T5 H»50,4 @ 1Y TTH @ WAl § -

1. 0- Sﬁ?pmﬁﬁﬁﬁﬁﬁ

ERCAGGIE]
4.246-C Ej'—‘i E{ii@ﬁﬁ 5
Options :

485584143197. 1
485584143198.2
485584143199.3
485584143200. 4

Question Number : 36 Question Id : 48558435801 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Match List T with List IT

LISTI LISTII
A [lnsulin I. |Female hormone
B. |Thyroxine 1. Male sex hormone
C. |Testosterone | 11 [Thyroid
D |[Estradiol IV |Blood glucose level

Choose the correct answer from the options given below:

1. A-L. B-II. C-IIL, D-IV
2. A-IV, B-IIL C-II, D-I
3. A-IV, B-III., C-1. D-TI
4. A1, B-IV, C-II, D-I

Options :

485584143201. 1

485584143202. 2

485584143203. 3
485584143204. 4

Question Number : 36 Question Id : 48558435801 Question Type : MCQ Option Shuffling : No Fe Nnaction Mandatary .

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

collegedunia:



Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
e 1 1 =T 11 8 e Bifey
il ¥ 11

ggfer L |ATer i
URRIFE | I [R [ gEE
CEERA | 1L RIS
TSR | IV. fodid &1 Tad H &R

FafeRad feedi § O Ugl IR & 994 Sl -

1. A-L. B-II. C-III. D-IV

=1 Bl Rol g

| )

CA-TV, B-II1, C-I1, D-1

CA-IV, B-1I1, C-1, D-II

L S]

4. A-II1. B-IV, C-I1, D-I

Options :

485584143201. 1
485584143202. 2
485584143203. 3
485584143204. 4

Question Number : 37 Question Id : 48558435802 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

Which of the following will not be sweet in taste?

1. Maltose
2. Glycogen
3. Lactose
4. Fructose

Options :

485584143205. 1

485584143206. 2

485584143207. 3
485584143208. 4

collegedunia:




Question Number : 37 Question Id : 48558435802 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key

Value

Comprehension

MCQ

faferad J fgeT are AyR (HiaT) 78l g 2

1. Alee iy
ERIECAFE]
RNC
4. e

| B}

L# 5]

Options :

485584143205. 1
485584143206. 2
485584143207. 3
485584143208. 4

Question Number : 38 Question Id : 48558435803 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key

Value

Comprehension

MCQ

Matech List I with List IT

LISTI LISTII
A [Vitamin C I. [Rackets
B. [Vitamin A II. |Ben Ber
C. [Vitamin D II1. |Scurvy
D. [Vitamin By IV [Night blindness

Choose the correct answer from the options given below:

1. A-IV, B-II. C-III, D-I

2. A-ILL B-IV, C-I1. D-I

5]

CA-ITL B-IV. C-1, D-II

4. A-IIIL. B-1. C-IV, D-II

Options :

485584143209. 1
485584143210. 2
485584143211. 3
485584143212. 4

-

s collegedunia:



Question Number : 38 Question Id : 48558435803 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ
I 1 BT G 11 e pifore
AT 1 T 11
A [i[dgerifF-c I [Rbey
B [[derf@H-a I [&dt-aRl
C faemaD | UL [®ar
D. [[de®aB, |1V [dfsf
FafRad faeedl § 9 98l SR &1 904 Bifel -

1. A-IV, B-II, C-III, D-I

| B

L]

AL B-IV, C-I1L D-1

AL B-IV, C-1, D-II

4. A-IIIL B-1. C-IV. D-IT

Options :

485584143209. 1
485584143210. 2
485584143211.3
485584143212. 4

Question Number : 39 Question Id : 48558435804 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key

Value

Comprehension

MCQ

-

s collegedunia:



Matech List I with List IT

LISTI LISTII
A |Tervlene I. |Gycosidic linkage
B. [Nylon 1I. [Ester linkage
C. |Cellulose IT1. |Phosphodiester linkage
D. [ENA IV, |Amide linkage

Choose the correct answer from the options given below:

1. A-IL. B-IV. C-I, D-III

2. AL B-IT, C-IV, D-I

3. A-L B-1II. C-IIL, D-IV

4. A-IV, B-II. C-ITI, D-I

Options :

485584143213. 1
485584143214.2
485584143215. 3
485584143216. 4

Question Number : 39 Question Id : 48558435804 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ
I 1 D1 AT 11 U e Bifey
il T I
A = I fau@sEEal dud
B. FzdE IL [GT gy
C. Bgara 1L [BIEESTs el 94
D. 3R AT |IV. [(H1ES g8

FafeRad feedi § O Ugl IR & 994 Sl -

1. A-IL. B-IV, C-1, D-III

| S

L S]

CA-ITTL B-ILL C-IV, D-I

CA-L B-IL C-III, D-IV

4. A-IV, B-11, C-II1, D-1I

Options :

485584143213. 1
485584143214.2
485584143215. 3

-

s collegedunia:



485584143216. 4

Question Number : 40 Question Id : 48558435805 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Which of the following will act as antiseptic as well as disinfectant ?

1. Boric acid
2. Iodoform
3. Sulphur dioxide
4. Phenol

Options :

485584143217. 1

485584143218.2

485584143219. 3
485584143220. 4

Question Number : 40 Question Id : 48558435805 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

frafaRad & o1 giavidt 3R [dis & avg o1 dam 2
1. SR 3%
2. ATaTSIHTH

3. o B laaS S
4. fopara

Options :

485584143217. 1
485584143218.2
485584143219. 3
485584143220. 4

Sub-Section Number : 2
Sub-Section Id : 4855842645
Question Shuffling Allowed : No

Is Section Default? : null

collegedunia:



Question Number : 41 Question Id : 48558435806 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension Compl

In a colloidal state the particle size of the dispersed phase range between 10° to 10° pm and colloidal sol is
heterogenous in nature. Based on the nature of interaction between the dispersed phase and dispersion medium
colloidal sol are classified as lyophilic and lyophobic. Stability of sol is due to presence of charge on the sol
particles and the neutralisation of the same 15 known as coagulation or precipitation.

Based on this answer the following.

Lyophillic sols are more stable than lyophobic sols because

1. The colloidal particles have positive charge

[

. The colloidal particles have no charge
3. The colloidal particles are solvated
4. A small amount of electrolyte 1s added to stabilise

Options :

485584143221. 1
485584143222.2
485584143223.3
485584143224. 4

Question Number : 41 Question Id : 48558435806 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension Compl
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Options :

485584143221. 1
485584143222.2
485584143223.3
485584143224. 4

Question Number : 42 Question Id : 48558435807 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension Compl

In a colloidal state the particle size of the dispersed phase range between 10 to 10° pm and colloidal sol is
heterogenous in nature. Based on the nature of interaction between the dispersed phase and dispersion mediumn
colloidal sol are classified as lyophilic and lyophobic. Stability of sol 15 due to presence of charge on the sol
particles and the neutralisation of the same 13 known as coagulation or precipitation.

Based on this answer the following.

Bredig's arc method 1s.

1. To coagulate colloidal sol

|

. To prepare colloidal sol

L]

. To purify the colloidal sol
4. To prepare the micelles

Options :

485584143225. 1
485584143226. 2
485584143227.3
485584143228. 4

Question Number : 42 Question Id : 48558435807 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

collegedunia:




Key

Value

Comprehension

Compl
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4. G §H & fag

Options :

485584143225. 1
485584143226. 2
485584143227.3
485584143228. 4

PIalse! WS BT P & Y

Question Number : 43 Question Id : 48558435808 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

Compl

In a colloidal state the particle size of the dispersed phase range between 10° to 10° pm and colloidal sol is
heterogenous in nature. Based on the nature of interaction between the dispersed phase and dispersion medium
colloidal sol are classified as lyophilic and lyophobic. Stability of sol is due to presence of charge on the sol

particles and the neutralisation of the same 1s known as coagulation or precipitation.

Based on this answer the following.

collegedunia:



The formation of micelles takes place.

1. Only above a particular temperature and above a particular concentration

| -]

. Only below a particular temperature and below a particular concentration
3. Only above Kraft temperature and below CMC
4. Only below Kraft temperature and above CMC

Options :

485584143229. 1
485584143230. 2
485584143231.3
485584143232. 4

Question Number : 43 Question Id : 48558435808 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension Compl
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Options :

485584143229. 1
485584143230. 2
485584143231.3
485584143232. 4

Question Number : 44 Question Id : 48558435809 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

collegedunia:




Key Value

Comprehension Compl

In a colloidal state the particle size of the dispersed phase range between 10° to 10° pm and colloidal sol is
heterogenous in nature. Based on the nature of interaction between the dispersed phase and dispersion medium
colloidal sol are classified as lyophilic and lyophobic. Stability of sol 15 due to presence of charge on the sol
particles and the neutralisation of the same 13 known as coagulation or precipitation.

Based on this answer the following.

The Arseneous sulphide As,S; sol has negative (-) charge. The maximum power to precipiate it is of :

1. HESO4

3. Ca('-lz

4, AlCl_q
Options :
485584143233. 1
485584143234.2

485584143235. 3
485584143236. 4

Question Number : 44 Question Id : 48558435809 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key

Value

Comprehension

Compl
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ST AAPISS As, S, d W BUMAY gidl ¢ | FHH H 9 S 34 siftiddd saafud s s
1. H,80,
2. NagPO,
3. CaCl,
4. AlCl,

Options :

485584143233. 1
485584143234. 2
485584143235.3
485584143236. 4

Question Number : 45 Question Id : 48558435810 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension Compl

In a colloidal state the particle size of the dispersed phase range between 10> to 10° pm and colloidal sol is
heterogenous in nature. Based on the nature of interaction between the dispersed phase and dispersion medium
colloidal sol are classified as lyophilic and lyophobic. Stability of sol 1s due to presence of charge on the sol
particles and the neutralisation of the same 13 known as coagulation or precipitation.

Based on this answer the following.

When KI solution is added to AgNO5 solution such that AgNO; amount exceeds KI amount.

—

. The precipitated Agl adsorbs I 1ons from KI solution and negatively charged colloidal sol result

[

. The precipitated Agl adsorbs Ag™ 1ons from KI solution and positively charged colloidal sol result

%]

. The precipitated KI adsobs NO; 1ons from AgNO; and negative charged colloidal sol results

4. No collidal sol. formation takes place

Options :

485584143237. 1
485584143238.2
485584143239. 3
485584143240. 4

Question Number : 45 Question Id : 48558435810 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

collegedunia:




Question Key Details :

Key Value
Comprehension Compl

PIcilgs UIaw H HUI &1 PR 103 I 10° 11 8 R Blailgs Gl A9 gefd o1 gidr ¢ | aRfa
WG Ud UREYUI ATed o e {ohdl & SMUR IR Dldigs did &l Gavil R gaidenil 8§ avfigd fhar
T | T & R IS B IR IR A & FRUISIAT & 3R 75T SIS g a1
AT HEATAl 5|

29 YR R HHieRad U &1 3R gIio

d kI faam agNo; [3ea  S1ar 9

1. A& Agl, ki AT T 1~ 3mmH Bt HERNNT ST § 3R BUERRE Sags 9 s ¢

| S]

. SaglUd Agl kI faTE= T Ag* 3 Ui $Rar & 3R YAl Sidsal 9id e 8|
3. HAETYT kI, AgNO; B TaTTT ¥ no; UG Bl & SR BRI Plales e g &

4. BIASS Gid Tof G 8

Options :

485584143237. 1
485584143238. 2
485584143239.3
485584143240. 4

Sub-Section Number : 3
Sub-Section Id : 4855842646
Question Shuffling Allowed : No

Is Section Default? : null

Question Number : 46 Question Id : 48558435811 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension Comp?2

Certain Aldehydes, Retore and certain aleohol undergo 1odoform test. Certain Aldehydes ketones undergo
aldol condensation. While certain aldehydes undergo Cannizaro's reaction. Aldehydes responds to tollen
reagent and fehling reagent test.

collegedunia:




Which amongst the following undergo iodoform test

A. CH;0H
B. CH;CH,OH
CH, CH — CH,4
o :
OH

D. CH;CH,CH,0H
Choose the correct option

1. Aand D only

| ]

. B and C only
3. B and D only
4. A and B only

Options :

485584143241. 1
485584143242.2
485584143243.3
485584143244. 4

Question Number : 46 Question Id : 48558435811 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension Comp?2
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collegedunia:



g | o TSI Uiien &l SRl B

A. CH;OH
B. CH;CH,0H

CH; CH — CH,4
& _
OH

D. CH;CH, CH,0H

£ Dy

el faeed &1 94 $ifoy
1. FTAAARD
2. $adB 3R C
3. %90 B AR D
4. Had A AR B

Options :

485584143241. 1
485584143242. 2
485584143243.3
485584143244. 4

Question Number : 47 Question Id : 48558435812 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key

Value

Comprehension

Comp?2

Certain Aldehydes, Retore and certain alcohol undergo 1odoform test. Certain Aldehydes ketones undergo
aldol condensation. While certain aldehydes undergo Cannizaro's reaction. Aldehydes responds to tollen

reagent and fehling reagent test.

collegedunia:



Which amongst the following undergo aldol condensation

A. CH;CHO
B. HCHO
C. CH;COCH,4

CHO

Choose the correct option

1. Aand D only

| ]

. A and C only
3. Aand B only
4. D only

Options :

485584143245. 1
485584143246. 2
485584143247.3
485584143248. 4

Question Number : 47 Question Id : 48558435812 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

Comp?2
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A. CH;CHO

B. HCHO
C. CH;COCH;Z

CHO

el IR & 999 Piferg

1. %ad A SR D
2. PaAAARC
3.%ad A SR B
4. HadD

Options :

485584143245. 1
485584143246. 2
485584143247.3
485584143248. 4

Question Number : 48 Question Id : 48558435813 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key

Value

Comprehension

Comp?2

Certain Aldehydes, Retore and certain alcohol undergo 1odoform test. Certain Aldehydes ketones undergo
aldol condensation. While certain aldehydes undergo Cannizaro's reaction. Aldehydes responds to tollen

reagent and fehling reagent test.

collegedunia:



When CH,CHO and HCHO are created with NaoH (aq), one of the product is found to be
CH, OH

HO CH, — C — CH, OH

CH, OH

The number of times aldol condensation and number of times Cannizzaro's reaction oceur to produce the

product HO CH, — C — CH, OH 1s

[
LF¥]
[

4.1.1

Options :

485584143249. 1
485584143250. 2
485584143251. 3
485584143252. 4

CH, OH
I

I
CH, OH

Question Number : 48 Question Id : 48558435813 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key

Value

Comprehension

Comp?2
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oid CH,CHO 3R HCHO &1 Sdl[d NaOH & 1Y {Hfchar sl Sl 8, a1 Wi i aldl Ud Sadlg
CH, OH
T

HO CH, — C — CH, OH
i 2

CH, OH
CH, OH
HO CH, — ([ — CH, OH U% 318 & 9 1 Ied B & O Uesld Ho-H Ud B sifiifhar o1
(Itnzon
3] gl
1.1,3
23,1
3.kl
4 1.1
Options :

485584143249. 1
485584143250. 2
485584143251. 3
485584143252. 4

Question Number : 49 Question Id : 48558435814 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension Comp?2

Certain Aldehydes, Retore and certain aleohol undergo iodoform test. Certain Aldehydes ketones undergo
aldol condensation. While certain aldehydes undergo Cannizaro's reaction. Aldehydes responds to tollen
reagent and fehling reagent test.

gcollegedunia;

-



Which amongst the following will respond to Tollen's reagent test.

CHO

B. HCHO
C. HCOOH
D. CH;COCHj

Choose the correct option
1. Aand B only
2. A B and C only
3.B and C only
4. D only

Options :

485584143253. 1
485584143254.2
485584143255. 3
485584143256. 4

Question Number : 49 Question Id : 48558435814 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Comp?2
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CHO

B. HCHO
C. HCOOH
D. CH;COCH;
o [ded &1 944 Difolw
1. Pad A IR B
2. PAd A, B IR C

3. PAAB AR C

4. &Hdd D

Options :

485584143253. 1
485584143254. 2
485584143255. 3
485584143256. 4

Question Number : 50 Question Id : 48558435815 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key

Value

Comprehension

Comp?2

Certain Aldehydes, Retore and certain alcohol undergo 1odoform test. Certain Aldehydes ketones undergo
aldol condensation. While certain aldehydes undergo Cannizaro's reaction. Aldehydes responds to tollen

reagent and fehling reagent test.

collegedunia:



Which amongst the following will respond to both Tollen's reagent test and Fehling reagent test ?

CHO

(o]

. CH;CHO

3. CH;COCH,;

COCH,

Options :

485584143257. 1
485584143258. 2
485584143259.3
485584143260. 4

Question Number : 50 Question Id : 48558435815 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

Comp?2

T3 UESERS. PIcH Ud $8 Uedbled HTTSIHH Tiem i §1 39 USess Ud SieH Ui g

I SAUTHTT B § walD T UcSeles Di-aRl HYThar qrriad Fd & | UfcSeIes cla siidptd

IR el sifirede wiem & ufafear sofa €

collegedunia:



fog | o elaq sifiieds td hefe sifysds odieu - & gufar g:

CHO

| S

. CH;CHO

3. CH;COCH;,

o)

COCH,4

Options :

485584143257. 1
485584143258. 2
485584143259.3
485584143260. 4

Mathematics
Group Number : 2
Group Id : 485584810
Group Maximum Duration : 60
Group Minimum Duration : 60
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group MarKks : 200
Is this Group for Examiner? : No
Examiner permission : Cant View
Show Progress Bar? : No

Common

Section Id : 485584930
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 15
Number of Questions to be attempted : 15
Section Marks : 75
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 4855842647

collegedunia:
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Question Number : 51 Question Id : 48558435816 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQl
2 1
1 4 _ 1 2 30
IfA= and B = then
1 6 2 -1 6 7
0 7

1. only AB is defined.

| )

. only BA is defined.

. AB and BA both are defined.

L]

4. Neither AB nor BA 15 defined.

Options :

485584143261. 1
485584143262.2
485584143263.3
485584143264. 4

Question Number : 51 Question Id : 48558435816 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQl
2 1
1 4] = L. 2 340 -
afa-| " 4 am_L i ?}am
0 7
1. Had AB URHIET §
2. $ad BA TR g
3. AB TYT BA &I ORI g

4.7 AB 3R ATE BAURYUING g

Options :
485584143261. 1
485584143262.2

collegedunia:




485584143263. 3
485584143264. 4

Question Number : 52 Question Id : 48558435817 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQLl

4x Sx-=7 [ x+6 Y :
If =l " _ ~|then the value of 2x + y is:
dr 2x+y| |[Ty-13 7 -

| ]
-1

L]
=]

4.6

Options :

485584143265. 1
485584143266. 2
485584143267.3
485584143268. 4

Question Number : 52 Question Id : 48558435817 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQL1

afg [4'l > T};_j I {}3 :]t_‘ﬁ 2x +y Pl ﬂ'Fi'%-

4 2wy ] |[Tr-l

1.8

[
-1

4.6

Options :

485584143265. 1
485584143266. 2
485584143267.3
485584143268. 4

Question Number : 53 Question Id : 48558435818 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

s collegedunia:

-



Question Key Details :

Key Value
Comprehension MCQl

The area of a triangle with vertices (0. =3). (0, 3) and (k. 0) is 27 sq.units. The value of k is:

1.-27
2.-6
3.-18
4.9
Options :

485584143269. 1
485584143270. 2
485584143271. 3
485584143272. 4

Question Number : 53 Question Id : 48558435818 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQl
i (0. -3). (0. 3) 3R (k. 0) TR Y FT 8T 27 T 5PT3 5 k BTHA o

1.-27
2.6
3.-18
4.-0

Options :

485584143269. 1
485584143270. 2
485584143271. 3
485584143272. 4

Question Number : 54 Question Id : 48558435819 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQl

collegedunia:




. . . 3 2 .
If A is a non singular square matrix of order 3 such that A~ = 4A< then value of |A] 1s:

1.16

| ]

.64
3.4
4.8

Options :

485584143273. 1
485584143274.2
485584143275.3
485584143276. 4

Question Number : 54 Question Id : 48558435819 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQl1
af% A BT 3 BT FH VT 1 3HTegE 39 UPR o fb A% = 4A2 T |A| BT HE BHT-

1. 16
2.04
3.4
4.8

Options :

485584143273 1
485584143274. 2
485584143275. 3
485584143276. 4

Question Number : 55 Question Id : 48558435820 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQl

collegedunia:




Derivative of 2x° with respect to 5x* is:
|
Sx
1
5x°
1
5x

|
S

3
S

1

| )

5

Options :

485584143277. 1
485584143278. 2
485584143279.3
485584143280. 4

Question Number : 55 Question Id : 48558435820 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ1

5x* 3 gTde] 2x2 T 3dha o-
|

1.
X

, R —
3
5x

Options :

485584143277. 1
485584143278.2
485584143279. 3
485584143280. 4

Question Number : 56 Question Id : 48558435821 Question Type : MCQ Option Shuffling : No |
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

collegedunia:




Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ1

The slope of normal to the curve y = 3x? — 6x at x = 0 is:

1.-6
T
6
i
i
6
i
3
Options :

485584143281. 1
485584143282. 2
485584143283. 3
485584143284. 4

Question Number : 56 Question Id : 48558435821 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ1

x=0WRdF y = 3x2 — 6x D HLTd P Uurdl g

1.-6
e
i

g

6}
g2
3

Options :

485584143281. 1
485584143282.2
485584143283.3
485584143284. 4

Question Number : 57 Question Id : 48558435822 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ1

collegedunia:




Iff(x)= 32, then f(x) 1s:

L. Inereasing in (0, =), decreasing in (—oo, 0)

| ]

Increasing in (—oe., 0). decreasing in [0, o)

L]

O o =
. IllCl'l:F]EiIllg m|——_o2 |, dﬂCI'ﬂﬁSIIlg m | —oo, —
3 3

4. Decreasing for all real values of x

Options :

485584143285. 1
485584143286. 2
485584143287. 3
485584143288. 4

Question Number : 57 Question Id : 48558435822 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQl1

qﬁf{x} - 32 8. d fx) T
. (0, =) T THAM, (—ee, 0) H GRIAH

—

[ ]

. (~. 0) H THAM, [0, o) T FTHH

. P%_Q‘-ﬁaﬁnﬁ [—f%l}ﬁaﬂmﬁ

L8]

)
4. x & g arafds 71 & fod gragE

Options :

485584143285. 1
485584143286. 2
485584143287.3
485584143288. 4

Question Number : 58 Question Id : 48558435823 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQl

collegedunia:




The value of J(Sx - 2)3 dy 1s:

L. 3{(5x — 2) + C ; C 1s constant of integration.

| )

3. (5x— 2.)4 + C : C i3 constant of integration.

- Gt a} 4 d : :
4. f-.:‘x,,_‘:.] _+: C is constant of integration.

20

Options :

485584143289. 1
485584143290. 2
485584143291.3
485584143292. 4

) . . .
. 15(5x —2)* + C : C 13 constant of integration.

Question Number : 58 Question Id : 48558435823 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQI

I(Sx— 2)3 dx PT Iﬁ:f%-

1.3(5x—2)+ C:C GHAH T 3 &

[

L]

15(5x—2)2 + C : C THIDE 3§

(5x—2)*+ C ; C GHTHTH 3R g

4. 532 . C GHIHEA SRR §

20

Options :

485584143289. 1
485584143290. 2
485584143291. 3
485584143292. 4

Question Number : 59 Question Id : 48558435824 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQI

collegedunia:



Area bounded by y = |x — 5| and x-axis between x = 2; and x =4 1s:

1.5

|

4

4.6

Options :

485584143293. 1
485584143294. 2
485584143295. 3
485584143296. 4

Question Number : 59 Question Id : 48558435824 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQI

y=bh—3 x-3& Td x =2 F x =4 Y R & BT &4 &:

1.5

[ ]

4

4.6

Options :

485584143293. 1
485584143294. 2
485584143295. 3
485584143296. 4

Question Number : 60 Question Id : 48558435825 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQI

collegedunia:



- 3
f 2 : . : .
19,4 2| —7. then the sum of order and degres of the differential equation is:

dr\ dr” J
1.3

D

4.4

Options :

485584143297. 1
485584143298. 2
485584143299. 3
485584143300. 4

Question Number : 60 Question Id : 48558435825 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQI

P,
f T

qﬁ d 2..-.1" {
del dx” )

E

5]
[

4.4

Options :

485584143297. 1
485584143298. 2
485584143299.3
485584143300. 4

_+. B Ol 3P d D Dilc UG UTd &I ITHd &:

Question Number : 61 Question Id : 48558435826 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQI

collegedunia:



d 4
The equation of the curve whose slope 1s given by —- o l—‘ x =0, v > 0 and which passes through the poimnt
(2. 2) is: -

Ly?=4x-12

.
-
I
ey
sy
I
|
—
(]

3.2 =4x2+ 12
4 x* =4+ 12
Options :

485584143301. 1
485584143302. 2
485584143303. 3
485584143304. 4

Question Number : 61 Question Id : 48558435826 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQl

saawmaﬁwm%ﬁmw-=— x>0,y > 08l qUT ol fag (2, 2) B ToRAT &L

2.0 =47 12
3.7 =4+ 12

2 2
4 x=47112

Options :

485584143301. 1
485584143302. 2
485584143303. 3
485584143304. 4

Question Number : 62 Question Id : 48558435827 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQl1

collegedunia:




A random variable has the following probability distribution

X = x; 2 3 4
P(X =x;) 4k k 5k

LA

]
P

The value of P(X < 3) 1s:

| )

E|‘-“ N B S E|_

Options :

485584143305. 1
485584143306. 2
485584143307.3
485584143308. 4

Question Number : 62 Question Id : 48558435827 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQl1

TS dTefos® 9% &1 Wiidddl g -id (a1 T g

X = x; 2 3 4
P(X =x;) 4k k 5k

LA

-
=

P(X<3)BAAE

_[\_J

|uu L ) e e

]

Options :
485584143305. 1

collegedunia:




485584143306. 2
485584143307. 3
485584143308. 4

Question Number : 63 Question Id : 48558435828 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ1

If a discrete random variable X has the following probability distribution:

2 4
KA — 1 -

3 3
P(Xj cl c‘j’ L
then ¢ 1s:

b | —

[

ek | —

-

b
Options :
485584143309. 1
485584143310. 2

485584143311.3
485584143312. 4

Question Number : 63 Question Id : 48558435828 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ1

collegedunia:




gfe 3ridd Oefeee =R X 1 Uied s §:

X

|

bl o | b2

=)

P(Xj C ' C

?‘ﬁcﬁrﬂ'_‘l%:

b | —

| )
[

Options :

485584143309. 1
485584143310. 2
485584143311. 3
485584143312. 4

Question Number : 64 Question Id : 48558435829 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQl

The maximum value of Z= 3x + 4y subject to constraint x ~ y<6.x, y = 01s ;

1.18

[
)
]

4.24

Options :

485584143313.1
485584143314.2
485584143315.3
485584143316. 4

Question Number : 64 Question Id : 48558435829 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

collegedunia:




Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ1

AU x +y<6. %, y = 0d I Z= 3x + 4y BT HUHIH T4 ©:

1. 18

| ]
[ ]
=

L@ ]
o
o)

4. 24

Options :

485584143313. 1
485584143314.2
485584143315.3
485584143316. 4

Question Number : 65 Question Id : 48558435830 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ1

For the problem max Z = ax + by. x = 0. ¥ = 0. which of the following is NOT a valid constraint to make 1t a
linear programming problem?

1.x=5y<10
2. 2x+3y=60
J.x+2y<40

Options :

485584143317. 1
485584143318. 2
485584143319.3
485584143320. 4

Question Number : 65 Question Id : 48558435830 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQl

collegedunia:




T HUHTHERO Z = ax + by, x = 0, y = 0 P 00,54 AP T 9991 &1 & fou, Fefaa a9

19 I UH 9% Y T8l 5

i

5.y<10

w

1l.x=

| S

C2x+ 3y =60

[ 5]

x+2y<40

-

4.x2 +y<50

Options :

485584143317. 1
485584143318. 2
485584143319.3
485584143320. 4
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Question Number : 66 Question Id : 48558435831 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ2

For real numbers a and b, define aBb if b—a+ *Jrg 15 an irrational number. Then the relation B 1s:

1. Symmetric

|

. Reflexive
3. Transitive
4. Equivalence

Options :

collegedunia:




485584143321. 1
485584143322.2
485584143323.3
485584143324. 4

Question Number : 66 Question Id : 48558435831 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ2

a TUT b Afae T3l & [0, aRb 29 YR URMING € 3 b — a + /5 3rafid T € ot ddy R 8h:
1. gHiHT

- aded

3. GblHS

| ]

4. e

Options :

485584143321. 1
485584143322.2
485584143323.3
485584143324. 4

Question Number : 67 Question Id : 48558435832 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ2

The domain of the function f(x) = log (x* —4) is :

1.[2, »)

| ]

(oo, 2) U (2, o)
3. (2, m)
4. (—oo, 2] U (-2,-1)
Options :
485584143325. 1
485584143326.2

485584143327.3
485584143328. 4

collegedunia:




Question Number : 67 Question Id : 48558435832 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ2

HdH f(x) = log (xz——ﬂﬁ;ﬂﬁ%i

1. [2, =)

| )

A=, =2) U (2. )
3.(2, =)
4, (=, 2] U (-2.-1)

Options :

485584143325. 1
485584143326. 2
485584143327. 3
485584143328. 4

Question Number : 68 Question Id : 48558435833 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ2

Domain of function f(x)=cos 'v2x-1 is

1L,1]

1.

I\..l

}
d

I‘-J"—

g
&
{
[z

L.u

N|—

M—

Options :

485584143329. 1
485584143330. 2
485584143331.3
485584143332. 4

Question Number : 68 Question Id : 48558435833 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

s collegedunia:

-



Key

Value

Comprehension

MCQ2

WA £ (x) =cos ' Zx—1 I U §

L[-L1]

| )
| —

[F5]
b | —

{
{
{
|

[ |
b

Options :

485584143329. 1
485584143330. 2
485584143331.3
485584143332. 4

Question Number : 69 Question Id : 48558435834 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ2

The value of tan(cos'x) is:

| ]
I
-

Options :

485584143333. 1
485584143334. 2
485584143335.3
485584143336. 4

L
‘?‘
=
b2

Question Number : 69 Question Id : 48558435834 Question Type : MCQ Option Shuffling : No F« Onaction Mandatarv -

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

collegedunia:



Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ2

tan(cos1x) BT HH %:

Options :

485584143333. 1
485584143334.2
485584143335.3
485584143336. 4

Question Number : 70 Question Id : 48558435835 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ2

x-y 1 =2
If the matrix|2x—¥ 0 3 | is skew-symmetric, then values of x and y are respectively

2 =3 0

|LJ|_.
-
[

!_d
—
| =—

4.-1.-1

Options :

485584143337. 1
485584143338.2
485584143339.3

collegedunia:




485584143340. 4

Question Number : 70 Question Id : 48558435835 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ2
x=y 1 =2

afg 3 (2x—y 0 3 | a9 GOfid 8 O « 9Ty 1 BHRE: T g1
2 -3 0
ik
2

2' ].n l

2
3. 11
4.-1.-1

Options :

485584143337. 1
485584143338.2
485584143339.3
485584143340. 4

Question Number : 71 Question Id : 48558435836 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ2

2 3 :
If A= 4 and A% — 3A + kI = 0 then the value of k is:

1.5

| ]
L%

Lad
L

4. -3

Options :

485584143341. 1
485584143342. 2
485584143343.3
485584143344. 4

collegedunia:



Question Number : 71 Question Id : 48558435836 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ2

A= 21 fatn.az—sA—kl=o%a?kaa‘rnH€hﬂ-

1.-5

| ]
[#F¥]

LIPS
L

4.3

Options :

485584143341. 1
485584143342. 2
485584143343.3
485584143344. 4

Question Number : 72 Question Id : 48558435837 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ2
[1 3 0 Vi1 0
IfA=/-v3 1 0|andB=|-1 3 0|thenABis equal to :
0 0o 2 0 D 2
1.41
2.1
[0 0 4]
3. 4 0
i 4 0 U_
[0 4 0
4.4 0 0
_U 0 4_
Options :

485584143345. 1
485584143346. 2
485584143347. 3
485584143348. 4

collegedunia:




Question Number : 72 Question Id : 48558435837 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ2

1 30 b3 10
gfida= 3 1 o|dUB=|-1 3 o|dl AB SR BIII-
0 0o 2 0 o 2

Options :

485584143345. 1
485584143346. 2
485584143347.3
485584143348. 4

Question Number : 73 Question Id : 48558435838 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ2

Which of the following 1s a correct statement ?

1. Determinant is a rectangular arrangement of numbers.
2. Determinant is a square arrangement of numbers.
3. Determinant 1s a value assigned to a square arrangement of numbers m a specific manner
4. Determinant 1s sum of diagonals elements of a square arrangement of numbers

Options :

485584143349. 1

485584143350. 2

485584143351. 3
485584143352. 4

collegedunia:




Question Number : 73 Question Id : 48558435838 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ2

g9 9 S Y T8l §:
1. IR0, T3l &7 Aaam HH GO B

2. ORI, el & aieR ®H GO gl
3. GRI0IE, BT AT =01 & FPR HH [0 1 a9y UoR 22 9 3ar gl

4. gRIUI%, T=O13ii & anieR ®F [d09 © fawul & agdl sram siar gl

Options :

485584143349. 1
485584143350. 2
485584143351.3
485584143352. 4

Question Number : 74 Question Id : 48558435839 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ2

cos’0 cosOsin® 0
The value of the determinant |-sint  cost# 0] is equal to
] 0 1

| ]

.cos B

. cos 268

[¥5]

4 cosB—sm®b

Options :

485584143353. 1
485584143354. 2
485584143355. 3
485584143356. 4

Question Number : 74 Question Id : 48558435839 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

collegedunia:




Key

Value

Comprehension

MCQ2

cos® 0 cosfisin® 0 :
TR [-siné cosp O BTAMT

0 ] 1

| ]

.cos @

. cos 26

L]

4 cosB—smnf

Options :

485584143353. 1
485584143354. 2
485584143355. 3
485584143356. 4

Question Number : 75 Question Id : 48558435840 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ2

IfA=(2.3).B=(-1,0). C=(4. 6) then area of the parallelogram ABCD 1s:

1.3

]
b | e

L]
o

4.2

Options :

485584143357. 1
485584143358. 2
485584143359. 3
485584143360. 4

Question Number : 75 Question Id : 48558435840 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ2

collegedunia:



A% A=(2,3). B=(-1,0),C = (4. 6) § 0 GHAFR 9gHS ABCD FT &5 5T

1.

Tad

| S

b | L

L]
N

4.2

Options :

485584143357. 1
485584143358.2
485584143359. 3
485584143360. 4

Question Number : 76 Question Id : 48558435841 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ2

2

JEI—I. x<l1
Let f(x)=] 1 , x=1
l x° , x5]

thenatx =1

L. f(x) is continuous from left only

2. f(x) is continuous from right only

3. f(x) 1s continuous

4. f(x) has removable discontinuity

Options :

485584143361. 1
485584143362. 2
485584143363.3
485584143364. 4

Question Number : 76 Question Id : 48558435841 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ2

collegedunia:



Ax=1T

1. f(x) Pdd GU TP Held

2. f(x) Bdd g TP Jdd
3./() WA ©
4. f(x) 30T 3Idd g

Options :

485584143361. 1
485584143362. 2
485584143363.3
485584143364. 4

Question Number : 77 Question Id : 48558435842 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ2
2 r
If = EJ""P-"+"" 0% x> ( then i; 18

e

4.

Options :

485584143365. 1
485584143366. 2
485584143367.3
485584143368. 4

dx”

Question Number : 77 Question Id : 48558435842 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

collegedunia:



Key Value
Comprehension MCQ2

-8
afg _  yredte10% x>0 gAY aAe-

dx”

_L.."

L¥S]

4.2

Options :

485584143365. 1
485584143366. 2
485584143367.3
485584143368. 4

Question Number : 78 Question Id : 48558435843 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ2

The derivative of f (cot x) with respect to g (cosecx) atx = % (where /'(1)=2g '{\E) =4 1s:

L2

2.1

Options :

485584143369. 1
485584143370. 2
485584143371.3
485584143372. 4

Question Number : 78 Question Id : 48558435843 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value |
Comprehension MCQ2

collegedunia:




T Ay

x == (o8l /(1) =2.,q'(\5) =4) TR g (cosec x) P TTUE f(cot x) BT B G-

4

L.z

| ]
[

Options :

485584143369. 1
485584143370. 2
485584143371.3
485584143372. 4

Question Number : 79 Question Id : 48558435844 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ2

The values of b for which the function f(x) = cos x + bx + a decreases on R are

L. [-1.1]
2. (—m, 1]
3. (—=, —1]
4. (-1, 1)
Options :
485584143373. 1
485584143374. 2

485584143375. 3
485584143376. 4

Question Number : 79 Question Id : 48558435844 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ2

collegedunia:



b & T O TR BT £(x) = cos x + bx + 2 G IRAMGH Taamaf R gHHHA &-

1.[-1.1]

| ]

. (—oo, 1]

[¥%]

(=, —1]
4 11

Options :

485584143373. 1
485584143374. 2
485584143375.3
485584143376. 4

Question Number : 80 Question Id : 48558435845 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ2

The equation of the normal to the curve y = 2sinx at (0, 0) 1s:

l..\+% =0
2.x-2y=0
3 \—E_p:@
4. x+2y=0
Options :

485584143377. 1
485584143378. 2
485584143379. 3
485584143380. 4

Question Number : 80 Question Id : 48558435845 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ2

collegedunia:



a3 = 2sinx D (95, (0. 0) TR ST BT FHDI 5

1
1._\+5J.'=0
2.x-2y=0
5 1
J.x——p=0

X 2}
4. x+2y=0

Options :

485584143377. 1
485584143378. 2
485584143379. 3
485584143380. 4

Question Number : 81 Question Id : 48558435846 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ2

4 2

The function f(x)=" has

_1-
4 2

L. 2 points of local maxima

[

[ 5]

4. 1 pont of local maxima and 1 point of local minima

Options :

485584143381. 1
485584143382. 2
485584143383.3
485584143384. 4

. 2 points of local minima and one point of local maxima

. 1 point of local minima and 2 points of local maximum

Question Number : 81 Question Id : 48558435846 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ2

collegedunia:



4 i
W_,«-(_r_}:-: -z |

Ly I=Eg S dfeg

2. WG Y & < 9y RIFHY Sy &1 U fog,
3. R (AfEN &1 U qur =i 3f=m & 9l fag,
4. R 3N &1 U auT wHD Hiy F1s o,

Options :

485584143381. 1
485584143382.2
485584143383. 3
485584143384. 4

Question Number : 82 Question Id : 48558435847 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ2

1
The value of I 3.(2 [r] dx is:
-1

| )

L N]
(R

Options :

485584143385. 1
485584143386. 2
485584143387.3
485584143388. 4

Question Number : 82 Question Id : 48558435847 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ2

collegedunia:



j. ¥’ [1] dx BT B:
~1

e | =

| 3]

L | b2

a=2

a
Options :
485584143385. 1
485584143386. 2
485584143387.3
485584143388. 4

Question Number : 83 Question Id : 48558435848 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ2

2
The value ofj xE |2;r| dx is:
-3

1. 65

| ]

65
2

.97

]

97

2

Options :

485584143389. 1
485584143390. 2
485584143391.3
485584143392. 4

Question Number : 83 Question Id : 48558435848 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ2

collegedunia:



| S

LN ]
L=
-1

9

2

b |

Options :

485584143389. 1
485584143390. 2
485584143391. 3
485584143392. 4

Question Number : 84 Question Id : 48558435849 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ2

. il .
Area lying between the curves y* = 9x and y = 3x 1s:

[a—y

. — sq. units

. units

-2
I
e
=]

]

. units

E.H
L | b2

e

=

4. — 5q. units

Options :

485584143393.
485584143394,
485584143395.
485584143396.

AW N~

Question Number : 84 Question Id : 48558435849 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value |
Comprehension MCQ2

collegedunia:




d }-'ZZQxH?-H}'ZSX@m &1 &1 &A% B

1. — sq.

_[\_J
b | = | =

w
| 2
o
=t

Ead | =t

Options :

485584143393.
485584143394,
485584143395.
485584143396.

units

. units

5. units

. units

AW N —

Question Number : 85 Question Id : 48558435850 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key

Value

Comprehension

MCQ2

Area lying in first quadrant and bounded by the circle x* + 17 = 9 and the lines x = land x = 3 is:

| )

Q9r

Lad

Options :

9
: (}H—ﬁ—gsin ’

9 ., _
|—++2 —==sin
)

9 9 1
4, i JE -510 :
4 2 3

485584143397. 1
485584143398. 2
485584143399. 3
485584143400. 4

1. 2% 2 g-sin_I lsq. units
2 4 3

5q. units

| —

5q. units

ad | —

5q.units

Question Number : 85 Question Id : 48558435850 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

collegedunia:



Key Value
Comprehension MCQ2

qel x2 +32 = 9 Ud @8l x = 1. x = 3 I e qur vy Iquiy 3 Y &3 o1 475 sh-

1. o J2 gsin_] ;sq. units

2 4
| .
2 ()FT—\E——H]H ]Esq. units
3: 2 /2 —=sin™! lsq. units
4 2 3

4. o J2 2sin_] ;sq.units

Options :

485584143397. 1
485584143398. 2
485584143399. 3
485584143400. 4

Question Number : 86 Question Id : 48558435851 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ2

: : . ody ) :
The integrating factor of sin 1T +2Vcosx=4 1s:
dx

1. lsinx

| ]

. 2
. |51 X|

. ¥
. |s1n X

[¥]

4, |cosx

Options :

485584143401. 1
485584143402. 2
485584143403. 3
485584143404. 4

Question Number : 86 Question Id : 48558435851 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :
|Key Value

collegedunia:




|C0mprehension |MCQ2

sin .r?+2_l’cus,r= 4 P THID AT TP %:
x

| ]

[¥¥]

4.

Options :

sinx
)
. |sin x|©

. ¥
. 81N X

CO5 X

485584143401. 1
485584143402. 2
485584143403. 3
485584143404. 4

Question Number : 87 Question Id : 48558435852 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ2
The solution of the differential equation — =—— 1s:
i '

2 ) .\ i ] :
1. x= + 3~ =2C, where C 1s constant of integration.

| ]

3. x* +y=2C, where C is constant of integration.

] ’) ‘ i i ’
4. x= —y* = 2C, where C 18 constant of integration.

Options :

) p ik ; ’
.x—y~=2C, where C 1s constant of integration.

~

485584143405. 1
485584143406. 2
485584143407. 3
485584143408. 4

Question Number : 87 Question Id : 48558435852 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension MCQ2

collegedunia:



AT THIBR §=—'—" EANG RS
x ¥

¥

1.x2 +32 =2C, C U JHID T DI 3R 5

| )

3. 32 +y=2C, C TP GHHT &1 AW g

2

4.2~y =2C, C UH GHIDA T R g

Options :

485584143405. 1
485584143406. 2
485584143407. 3
485584143408. 4

x—*=2C. C TP GHSHAT B A gl

Question Number : 88 Question Id : 48558435853 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ2

If |d| =5, |4’r" =2 and ‘d b

1.5

2.6

.36

LN ]

4. =6

Options :

485584143409. 1
485584143410. 2
485584143411. 3
485584143412. 4

=8 then the value of |ax b is:

Question Number : 88 Question Id : 48558435853 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ2

collegedunia:



afE fil=5.[¢|=2 TUT|a-b|=8T |axb| PTAAE:

1.5

2.6

3. 36

4, +6
Options :
485584143409. 1
485584143410. 2

485584143411.3
485584143412. 4

Question Number : 89 Question Id : 48558435854 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ2

If|.5- + b| =15 |E‘ —b'| =10, |E.-| = % then the value of ‘b'| is/are :

| ]

Laa

H
d

L,

Options :

485584143413. 1
485584143414.2
485584143415.3
485584143416. 4

Question Number : 89 Question Id : 48558435854 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ2

collegedunia:



5| 1A B

afe |a+b'|=!5.|ﬁ—Eﬁ|=lD.|ﬁ|=%?ﬁ

tu“_‘;j

)
3
[ | o]

Options :

485584143413. 1
485584143414.2
485584143415. 3
485584143416. 4

Question Number : 90 Question Id : 48558435855 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ2
The angle between the straight lines = B 'VTS G and *— A S ek 15
5 = 2 5 0 2 10

1. 45°
2.90°
3. 30°
4. 60°

Options :

485584143417. 1
485584143418. 2
485584143419. 3
485584143420. 4

Question Number : 90 Question Id : 48558435855 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ2

collegedunia:



4. 60"

Options :

485584143417. 1
485584143418. 2
485584143419.3
485584143420. 4

Question Number : 91 Question Id : 48558435856 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ2

; ; ; ; . . =7 y+17 z-6 x+5 y+3 z-4
The direction ratios of the line perpendicular to the lines = . 221 - and > ] :
proportional to:

L. 7.4:5

2.7.5.4

L]
il

5.7.4
4.54,7

Options :

485584143421. 1
485584143422. 2
485584143423.3
485584143424. 4

Question Number : 91 Question Id : 48558435856 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ2

collegedunia:




e 1T 2T 26 "';5 - -":3' " :‘64$¢|m a1 o few-3rurd -

1. 7,4, 5

| ]

7.5, 4
3.5,7.4
4.5.4,7

Options :

485584143421. 1
485584143422.2
485584143423.3
485584143424. 4

Question Number : 92 Question Id : 48558435857 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ2

The maximum value of Z = 2x + 3y subject to the constramts x > 0, y =2 0: x + ¥ = 10, 3x + 4y < 36 18

1.20

| ]
)
o |

4.0

Options :

485584143425. 1
485584143426.2
485584143427.3
485584143428. 4

Question Number : 92 Question Id : 48558435857 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ2

collegedunia:




UMl x = 0,y 2 0:x + p < 10, 3x + 4y < 36 T AT Z = 2x + 3y BT AUHIH A &

1. 20

[
[ ]
|

L@ ]
L]
o

4.0

Options :

485584143425. 1
485584143426. 2
485584143427. 3
485584143428. 4

Question Number : 93 Question Id : 48558435858 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ2

For the LPP, Min Z= 5x + Ty subject to x = 0, y = 0: 2x + y = 8, x + 2y = 10, the basic feasible solutions are:

1. (0, 0). (10, 0). (2. 4) and (0, 8)

|

.(10. 0), (2. 4) and (0. 8)
3. (0. 0). (0. 10). (2, 4) and (8. 0)
4. (0, 10), (4, 2) and (8. 0)

Options :

485584143429. 1
485584143430. 2
485584143431.3
485584143432. 4

Question Number : 93 Question Id : 48558435858 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ2

collegedunia:




LPP & fof, a8l x 2 0, p> 0: 2x + 3 2 8. x + 2y = 10 & A Z = 5x = Ty & FGAGH & {070, AH

@Tﬁﬁ%

1. (0, 0), (10, 0), (2. 4) TUT (0. 8)

[

(10, 0), (2. 4) TYT (0, 8)
3. (0, 0). (0, 10). (2, 4) TYT (8. 0)
4. (0, 10). (4, 2) TUT (8. 0)

Options :

485584143429. 1
485584143430. 2
485584143431.3
485584143432. 4

Question Number : 94 Question Id : 48558435859 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ2

A bag contaimns 12 white and 18 red balls. Two balls are drawn 1n succession without replacement. The

probability that the first is red and second is white is:

63
145

36
154

36
144
36
145

!_q

Options :

485584143433. 1
485584143434. 2
485584143435.3
485584143436. 4

Question Number : 94 Question Id : 48558435859 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ2

collegedunia:



% Ud H 12 T T 18 @@ TiE 8| &1 g 51 ufamme & SRR Al 18l ugdl T & ord aul
SO & Ghg giH B wiiddar ghfl-

63
145
36
154
36
144

36
145

[

L¥ ]

Options :

485584143433. 1
485584143434.2
485584143435. 3
485584143436. 4

Question Number : 95 Question Id : 48558435860 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ2
If A and B are events such that P{ 4l B") =% and P(AlJB)= :—: then the value of P(4") + P(B") 1s:
1.1
i
9
3.8
9
4.2
9

Options :

485584143437. 1
485584143438. 2
485584143439. 3
485584143440. 4

Question Number : 95 Question Id : 48558435860 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :
|Key Value

collegedunia:




|C0mprehension |MCQ2

ATUTB I USRI Ued g b p(aU 3']:%?[%{[ P{AUEJ:% dl P(4) + P(B') T 01 BT

1.1

[

E..u
O th Wl o=

Options :

485584143437. 1
485584143438.2
485584143439.3
485584143440. 4

Sub-Section Number : 2
Sub-Section Id : 4855842649
Question Shuffling Allowed : No

Is Section Default? : null

Question Number : 96 Question Id : 48558435861 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension Compl

Let f: . — E. be defined by f(x) = x*. for every x € E. Then fis:
1. one-one and onto
2. one-one and not onto
3. neither one-one nor onto

4. onto and not one-one

Options :

485584143441. 1
485584143442.2
485584143443.3
485584143444. 4

Question Number : 96 Question Id : 48558435861 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :
|Key Value

collegedunia:




|Comprehension

|C0mp1

AR £ 2 =5 f) =2 ERITRUIRA 81 S8l x e 2. T £ &
US| YT SHBIED
ATl THBISAR A HDGH

[

| R

L8]

s

Options :

485584143441. 1
485584143442.2
485584143443.3
485584143444. 4

 HTEITED & fdomg Uarat el

Question Number : 97 Question Id : 48558435862 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension Compl
Match List I with List IT
LISTI LISTII
) .
A i tan ! S lj (Il L 3 :
d.r_ 1-3x" } 1+x°
dl . sli=#") =
B. |—]| cos k 7| II. 3
dx| 1+x° ) 1+x°
= \ 2
C. |—]| cos III.
dx | L 1+x2 )} 1+a%
= 0 -
~ d coft] 3x _xj e |22
ax 1-3x" | 1+x°

Choose the correct answer from the options given below:
1. A-IL. B-III. C-I. D-IV
2. A-IV. B-1I. C-I, D-III
3. A-IIIL B-1. C-IV, D-II

4. A1, B-IV. C-III, D-II

Options :
485584143445. 1
485584143446.2

collegedunia:



485584143447. 3
485584143448. 4

Question Number : 97 Question Id : 48558435862 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key

Value

Comprehension

Compl

= 1 BT g 11 i ifore

i

T o

A |— tan ™ [

Ix—x
1-32 )

3

2
1+x°

d _{
B.|—|cos

pp )
1+x% )

1L

3 s cos ! [

2x q
1+x2 )

IIL.

2
1+x°

D |— cot™!
ax

3x—x |
1-3x% )

IV

2

2
1+x°

fFafaiad famed & ¥ Uet ST &1 997 B

1. A-IT. B-III. C-1, D-IV

|

L]

4. A-l. B-IV. C-III. D-IT

Options :

485584143445. 1
485584143446.2
485584143447.3
485584143448. 4

ATV, B-IIL C-1, D-III

AL B-IL C-IV, D-II

Question Number : 98 Question Id : 48558435863 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key

Value

Comprehension

Compl

-

s collegedunia:



The points of non differentiability of f(x)=x—2/+[x -3

Mmoo W
L O e

Choose the correct answer from the options given below:

1. Aand B only

| ]

. B and C only

Lad

. Aand C only
4. A and D only

Options :

485584143449. 1
485584143450. 2
485584143451.3
485584143452. 4

Question Number : 98 Question Id : 48558435863 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension Compl

f@)=le—2/+x—3| B A Tog 5 R spawa-ia 781 8:

g ==

MmUY QW
[ S )

At o famed! 1 U8t IR &1 987 B
1. %dc A 3R B

P B AR C

3. PadAARC

4, %9d A IR D

Options :

485584143449. 1
485584143450. 2
485584143451. 3

[

collegedunia:




485584143452. 4

Question Number : 99 Question Id : 48558435864 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension Compl
dx ,
The value of ——————— 18
xe— 6%+ 15

3 i ; ;
+ C. where C is constant of integration.

._.

2 |
S
a3
=t

2
=
|

i
-_..
|
[

+C. where C 1s constant of integration.

+ C. where C is constant of integration.

L]
|
S
=]
=)

+C . where C is constant of integration.

Options :

485584143453. 1
485584143454. 2
485584143455.3
485584143456. 4

Question Number : 99 Question Id : 48558435864 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension Compl

J‘ ax g
x2 —6x+13 '
x—3

lant X=3 ., ¢. C U 9o ed &7 SRR B

"4 5

[a—y

Zeot X234 ¢ € U HIBTH BT R B

| )

: %tan-l X3 oL C U UG BT R B

2

L]

g

: %mt—l X3 o.CUS gHGET BT HER B

2

collegedunia:




Options :

485584143453. 1
485584143454.2
485584143455.3
485584143456. 4

Question Number : 100 Question Id : 48558435865 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension Compl

If x and y are two collinear vectors, then which of the following are incorrect ?
l.x=%y
2. y= Jx . for some scalar }.
3. Both the vectors x and 3 have same direction, but different magnitudes.

4. the respective components of x and y are not proportional

Options :

485584143457. 1
485584143458.2
485584143459. 3
485584143460. 4

Question Number : 100 Question Id : 48558435865 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension Compl

A 3 T 5 S R IR S @ P A P R R

lLy=%y
2. y=0y. . feRI®
3. S WGR ¥ U1y, T €1 3= H § tReg AIuis el 8

4. 3 SR % e e YHMHUM 6l 6

Options :

485584143457. 1
485584143458. 2
485584143459.3

collegedunia:




485584143460. 4

Applied Mathematics
Section Id : 485584932
Section Number : 3
Section type : Online
Mandatory or Optional : Optional
Number of Questions : 35
Number of Questions to be attempted : 25
Section Marks : 125
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 4855842650
Question Shuffling Allowed : Yes
Is Section Default? : null

Question Number : 101 Question Id : 48558435866 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ3

The present value (in Z.) of a perpetuity of 2.3600 payable at the end of each quarter, if the interest rate is
9% per annum compounded quarterly, 1s:

1.22.40,000

| S

. 21.60,000
3.%2.00,000
4, 23,20,000

Options :

485584143461. 1
485584143462. 2
485584143463.3
485584143464. 4

Question Number : 101 Question Id : 48558435866 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ3

collegedunia:




U faTEl & ofd | 30 U Had 1 2.3600 BT qAHM Hed Iie At ST &3 9% BT Sl gl
Thagis B.6:

1.22.40,000

| S

. 2£1,60,000

. 22.00,000

[ 5]

4.33.20,000

Options :

485584143461. 1
485584143462.2
485584143463. 3
485584143464. 4

Question Number : 102 Question Id : 48558435867 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ3

If the present value of a perpetuity of 600 payable at the end of every six months 15 18000, then the rate of
interest 1s:

20,
1. T% per annum

!_u'l
w33

% per ammnuim
LT,

3. —"% per annum
3
1

4. —% per annum
2

Options :

485584143465. 1
485584143466. 2
485584143467. 3
485584143468. 4

Question Number : 102 Question Id : 48558435867 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ3

collegedunia:




Ui & A9 & 3id T &8 Had MR 2600 BT ToHH Hed 218000 8 dl &A1 B & 11T

b
120,
3

.z—fefsﬁﬁ_dﬁ

| S

5 %ﬁ»ﬁﬂﬁ’!ﬂ‘f

4. g%
>
Options :
485584143465. 1
485584143466. 2
485584143467.3
485584143468. 4

Question Number : 103 Question Id : 48558435868 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ3

In a 800 m race. A beats B by 74 m and m a 600 m race, B beats C by 50 m. By how many meters will A beat
C in a race of 800 m?

1.234.5m

[

.84.06m
3. 134.5m
4, 665.5m

Options :

485584143469. 1
485584143470. 2
485584143471.3
485584143472. 4

Question Number : 103 Question Id : 48558435868 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ3

collegedunia:




S0 HCR P UH ASHA . BHI 4 IR AT 51 600 TR B TH SIS A B, € 50 Hex g @ ol 800
Hex B s H A, ¢ & e Hiex I g

1.234.5 Tl
. 84.06 e
3. 1345 4R
4. 665.5 T

Options :

485584143469. 1
485584143470. 2
485584143471.3
485584143472. 4

[

Question Number : 104 Question Id : 48558435869 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key

Value

Comprehension

MCQ3

For the data

sl 7 Price F
Varmble Base year Current vear Wtihts
X 30 50 8
¥ 10 15 7
Z 25 30 4

The weighted price index number 1s:

1. 152.44
2.150.44
3.154.44
4, 156.44
Options :
485584143473. 1
485584143474. 2

485584143475.3
485584143476. 4

Question Number : 104 Question Id : 48558435869 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

|Key

Value

collegedunia:



|Comprehension IMCQ3

i gu aifwsi & ford

I
YR

i TR T Faa= a4

X 30 50 8
Y 10 5 )
Z 75 3 4

YT Jed & 1@ &

1.152.44

2.150.44

3.154.44

4.156.44

Options :

485584143473. 1
485584143474. 2
485584143475. 3
485584143476. 4

Question Number : 105 Question Id : 48558435870 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Comprehension

Value
MCQ?3

2 2 o 3 : :
A. B and C are partners in a business. A receives 3 of the total profit while B and C share the remainder

equally. A's profit 15 increased by 1,500, when the rate of profit 1s inereased from 10% to 12% n a year.
Then. B's share in the total profit is:

1

2

[#¥]

4

22,500

. 23.000

21,500

. 21.000

Options :

485584143477. 1
485584143478. 2
485584143479. 3
485584143480. 4

Question Number : 105 Question Id : 48558435870 Question Type : MCQ Option Shuffling : No
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

collegedunia:




Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ3

A BTUTC U IR T HIEER 51 A DI T a1 Bl %ﬁﬂﬁ%ﬁ@’%Bﬁ%ﬁcﬁﬁrﬁmﬁww-

SRTR AT § | ofd U @ 7 @ &1 2 10% F 12% 96 Sl & a6l A BT @1 21,500 96 ST 2| I8 Hd
ary H B &1 fewn &

1,322,500
2.33,000
3.%1.500
4.21.000

Options :

485584143477. 1
485584143478. 2
485584143479. 3
485584143480. 4

Question Number : 106 Question Id : 48558435871 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ3

A loan of 2200000 at the interest rate of 6% p.a. compounded monthly is to be amortized by equal payments at
the end of each month for 5 years. The monthly payment 1s:

[Given (1.005)790 = 0.74137220]

1. 31.866.57

| ]

. 24.886.57

. £3.806.57

[¥ %]

4. 72.866.57

Options :

485584143481. 1
485584143482.2
485584143483.3
485584143484. 4

Question Number : 106 Question Id : 48558435871 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

collegedunia:




Key Value
Comprehension MCQ3

TS 2200000 1 B 6% AP TS & IR IS Thals I 5 aU g IS A9 & 3id § 99 [&rd &
U H g gl 91 <3 gl
1S4 8 (1.005)750 = 0.74137220]

1.21.860.57

-2

. 24,886.57
3.33.866.57
4.32,866.57

Options :

485584143481. 1
485584143482. 2
485584143483. 3
485584143484. 4

Question Number : 107 Question Id : 48558435872 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ3

In reference to sampling. match List I with List IT

LISTI LIST IT

Measure of a characteristic of a sample [ |Parameter

|An assumption made about a population | 1T [Standard Error
Standard deviation of the sample ITT. |Statistic
Measure of characteristic of a population | IV, [Null Hypothesis

|| W=

Choose the correct answer from the options given below:
1. A-IL. B-IIL. C-I. D-IV
2. AL B-IV, C-I1, D-1I
3. A-II. B-IV. C-III. D-I
4. A-IL, B-IIL C-IV, D-I

Options :

485584143485. 1
485584143486. 2
485584143487.3
485584143488. 4

Question Number : 107 Question Id : 48558435872 Question Type : MCQ Option Shuffling : No
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

collegedunia:




Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ3

e 1 61 =T 11 ¥ fHaH Sifo:

Gl T 11

AT & s PTAM | 1 | W

B. |t S ard s@qHAr | 1L | 9HS B

o S EARCIECACERE L. | wifees!

D. | §HP & ATHTE 0 1 AT IV. | 270 TR e

FFafeiad fdeedi d 9 Hgl IR &l 99 Sl -

1. A-IL B-III. C-1. D-IV

| )

AL B-1V, C-I1L, D-I

. A-IL B-IV, C-III, D-1

L S]

4. A-I1. B-III. C-IV, D-I

Options :

485584143485. 1
485584143486. 2
485584143487. 3
485584143488. 4

Question Number : 108 Question Id : 48558435873 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ3

Mr. A took a loan of T 300000 at 10% annual mterest rate and paid ¥ 5000 as monthly mstalment under flat

rate system. What is the term of the loan?

1. 12 years

| ]

. 8 years

%]

. 10 years
4. 20 years

Options :

485584143489. 1
485584143490. 2
485584143491.3

-

s collegedunia:



485584143492. 4

Question Number : 108 Question Id : 48558435873 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ3

ST A7 2 300000 BT B 10% dTfle sars B ax Y ferar SR (Ed sarel & 9 2 5000 ST A1 fbwd
I BT | B0 B JHY-Haly FT7 87

1. 1299
g ay
31099
420494
Options :
485584143489, 1
485584143490, 2

485584143491. 3
485584143492. 4

[ ]

Question Number : 109 Question Id : 48558435874 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ3

The percent income of a year on 6% debentures of face value of 2100 available in the market for 2200 1s:

1. 3%

[
=S
\‘?
(=]

4. 6%

Options :

485584143493. 1
485584143494. 2
485584143495.3
485584143496. 4

Question Number : 109 Question Id : 48558435874 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

collegedunia:




Key Value
Comprehension MCQ3

2100 3ifoPd G & 6% HUIGA!, FSHHT S6R Ged 2200 § 0 S9! UH a4 &1 Uia=Id 314 5:
1. 3%

2. 4%

Lad
]
=
(=]

4. 6%

Options :

485584143493. 1
485584143494. 2
485584143495. 3
485584143496. 4

Question Number : 110 Question Id : 48558435875 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ3

The effective rate equivalent to a nominal rate of 8% per annum compounded semi-annually 1s:

1. 8.20%

| -]

. 8.24%
3. 8%
4, 8.16%

Options :

485584143497. 1
485584143498. 2
485584143499. 3
485584143500. 4

Question Number : 110 Question Id : 48558435875 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ3

collegedunia:




A X 8% AT ol f&s Sfefartie amafe 8 &1 vyl & 8l

1. 8.20%

| )
oo
[ ]
=
N
o

L@ ]
%
&

4. 8.16%

Options :

485584143497. 1
485584143498. 2
485584143499. 3
485584143500. 4

Question Number : 111 Question Id : 48558435876 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ3

Ravi takes 40 seconds whereas Vishnu takes 60 seconds to complete 240 metre race. By how many metres
does Ravi defeat Vishnu ?

1. 80 metres

[

. 60 metres
3. 70 metres
4, 50 metres

Options :

485584143501. 1
485584143502. 2
485584143503. 3
485584143504. 4

Question Number : 111 Question Id : 48558435876 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ3

collegedunia:




240 W12 B 31S 3G 40 YHUS T wales [T9] 60 YHUs H G31 B2l ¢ | a7 ] 1 fopa wfiex 3 g
1. 80 Hie}
2. 60 Hiex
3. 70 HieR
4. 50 Hiex

Options :

485584143501. 1
485584143502. 2
485584143503. 3
485584143504. 4

Question Number : 112 Question Id : 48558435877 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ3

The price of five different commodities for year 2018 and 2019 are as follows:

Price in Price in
Commodities 2018 2019
(in T) (in T)
A 4 8
B 3 9
C 2 6
D 6 9
E 2 4

The price index number for the year 2019 with 2018 as the base year. using simple average of price relatives
18:

1. 230

()

. 203
3.233
4. 320

Options :

485584143505. 1
485584143500. 2
485584143507. 3
485584143508. 4

Question Number : 112 Question Id : 48558435877 Question Type : MCQ Option Shuffling : No Is Ouestion Mandatorv :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

collegedunia:




Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ3

fafirs v @t oagait @t ad 2018 dUT 2010 P FHAFE

gege (2018 H e | 2019 A
cH (&)
A 3 8
B 3 9
C 2 6
D 6 9
E 2 4

O] & W S{d & SR U 2018 T YR T8 HGR, a4 2019 BT Jod JADidh 501 R

1.230

]

203
3.233
4. 320

Options :

485584143505. 1
485584143506. 2
485584143507. 3
485584143508. 4

Question Number : 113 Question Id : 48558435878 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ3

A boat can row upstream at 10 km'h and downstream at 18 km/h. If m 1s the speed of boat in still water and n
is the speed of stream then m-n 1s:

1. 16 km/h
2. 18 km'h
3. 20 km/h
4. 14 kmvh
Options :
485584143509. 1

485584143510.2
485584143511.3

collegedunia:




485584143512. 4

Question Number : 113 Question Id : 48558435878 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ3

TS =19 10 foHl/ e I 39Rwag dul 18 faiser 9 Ay varg | 1fd odl g1 af A1 &t wig 9a § 9rd
nlﬁ’iﬂ?ﬂ_\’-fﬁmﬁﬁlﬁnﬁ?ﬁ 111+:1WWE§W[:

1. 16 fpdTder
18 fpdider
3. 20 foedder
4. 14 f&dider
Options :
485584143509. 1
485584143510, 2

485584143511.3
485584143512. 4

[ ]

Question Number : 114 Question Id : 48558435879 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ3

Pipes A and B can fill a tank in 40 hours and 50 hours respectively and pipe C can empty the full tank in 60
hours. If all the pipes are opened together, how much time (in hours) will be needed to fill the tank ?

133
17

2.35
17

Options :

485584143513.
485584143514.
485584143515.
485584143516.

AW N =

collegedunia:




Question Number : 114 Question Id : 48558435879 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ3

U159 A TUT B U P! I HHTL: 40 T TUT 50§ H WX bl © AR 159 ¢ T3 1 &l 60 ©e H @ell R
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Options :

485584143513.
485584143514.
485584143515.
485584143516.

AW N~

Question Number : 115 Question Id : 48558435880 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ3

collegedunia:



o B o ; :
For the formula 1= —= > consider of the following statements:

1, B2

i TS o8

.,
A. ny and p, are sample mean and population mean respectively.
B. n; and n, are sample sizes of two samples from same population.
C. S; and S, are sample means of two samples from same population.
D. 8, and S, are standard error of two samples from same population.
E. n; 1s the sample size and n, 1s the population size.

Choose the correct answer from the options given below:

1. B and D only

[

.A.Band D only
3.B. Cand D only

4. A and E only

Options :

485584143517. 1
485584143518.2
485584143519.3
485584143520. 4

Question Number : 115 Question Id : 48558435880 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ3

collegedunia:




T t=— 2 ¥ for, Feffed sui o1 faR Sk

2 2
5.5
g t2
n, 1,

A. 1, TUT 1, SHST: TR AT GT JHIE J1eg |

B.n, AYTn, U® &l AHY & &1 T4 & Widax & uliesi & g §
C. S, U S, T &l FATP & &l FA1 & FIYR0 AeH §

D. §, A1 S, U &1 gUfP & &l 71 B TS 31 &

E. n; WIIGR S SHHY TUT n, THE BT HAG |

= 30 gu fasedl O 9gl SR &1 984 &

1. PaAB AR D
2. Pdd A, B IR D
3. B B.C IRD
4. Pdd A IRE

Options :

485584143517, 1

485584143518, 2

485584143519. 3
485584143520. 4

Question Number : 116 Question Id : 48558435881 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ3

10 litres of concentrated acid containing 75% of acid and rest water 1s mixed with X litres of diluted acid
containing 40% of acid and rest water. If the final mixture contains 60% of acid then value of X is:

1. 7.5 litres

[

. 9 litres
3.6 litres
4. 8 litres
Options :
485584143521. 1
485584143522.2

485584143523. 3
485584143524. 4

collegedunia:




Question Number : 116 Question Id : 48558435881 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ3

75% 3R dYT Y UIHI & 10 Tle? [HY0 H 40% 3% Ul 2N gHT & X dle? 3yl & (Semr afe g
8o o 60% 3% 81 df X &1 91 o1 81

1. 7.5 dicR
.9 IR
3.6 TleY
4, 8 Wiy
Options :
485584143521. 1
485584143522. 2

485584143523. 3
485584143524. 4

[ ]

Question Number : 117 Question Id : 48558435882 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ3

Fisher's price index number 1s:

1. A M. of Laspeyre's and Paasche's index

| )

. G.M. of Laspeyre's and Paasche's index
3. HM. of Laspeyre's and Paasche's index
4. Average of Laspeyre's and Paasche's index

Options :

485584143525. 1
485584143526. 2
485584143527. 3
485584143528. 4

Question Number : 117 Question Id : 48558435882 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

|Key Value

collegedunia:




|Comprehension |MCQ3

ftFeR &1 i YEH 1@ o
1. ST TYUT O & GASiP B GAMR J1E

[

 ORUT GYT UTR & gADiS B UIER J1e

3. T U IRl &A@ S B gRIeTd "1

4. OYTY YT TR & YEdid SN

Options :

485584143525. 1
485584143526. 2
485584143527. 3
485584143528. 4

Question Number : 118 Question Id : 48558435883 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ3

A random variable X has the following probability distribution

X 0] 1] 2] 3 ] 5 6 7
P(X) 0| k [2e| 2 | 3k | 12 | 22 | 2

then value of E(X) 1s:
1.1.66

2.2.66

4. 4.66

Options :

485584143529. 1
485584143530. 2
485584143531.3
485584143532. 4

Question Number : 118 Question Id : 48558435883 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ3

collegedunia:




TS Uref=s® 9% X &1 Widedl 9o == faar mar &
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4. 4.66

Options :

485584143529.
485584143530.
485584143531.
485584143532.

B W N =

Question Number : 119 Question Id : 48558435884 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key

Value

Comprehension

MCQ3

With reference to time series. match List I with List IT

LISTI

LISTII

Secular movements | I

Price increase before Despavali

Seasonal variations | 11

Increase in price of gold during a major war|

Cwvelic variations I11.

[ ong term trends

Olo|w@|=

[rregular variations | IV,

F ecurring rise and decline i production

Choose the correct answer from the options given below:

1. A-III. B-1. C-IV, D-II
2. AL B-I, C-IV, D-III
3. AT B-IIL, C-IW, D-I
4. A-TI. B-I11, C-IV, D-I
Options :
485584143533. 1
485584143534. 2

485584143535. 3
485584143536. 4

collegedunia:



Question Number : 119 Question Id : 48558435884 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ3

et Aot & Teaf . 1 o1 e 1 @ v T

T 1 T 1
Se@rE ufEd | 1 | S S qwate
fiuiads |1 |se g daRAan oload | gia
THE OGS | 1L | Eeered Suid
Hiafid oiada | IV, | @re- ° @ AR 318 AR fRae

FFafead fasedl 4 I el 3R &1 999 HIl

1. A-IIT. B-L. C-IV, D-II

U@ =

2. A-IT, B-1. C-IV, D-III
3. A-IILL B-I1L C-IV, D-I
4. AL B-III, C-IV, D-I

Options :

485584143533. 1
485584143534. 2
485584143535.3
485584143536. 4

Question Number : 120 Question Id : 48558435885 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ3

The region represented by the system of inequalities x, vy = 0, y < 8. x + v < 4 13

L. unbounded in first quadrant

| )

. unbounded in first and second quadrant
3. bounded 1in first quadrant
4. bounded 1n first and second quadrants
Options :

485584143537. 1
485584143538.2

collegedunia:




485584143539. 3
485584143540. 4

Question Number : 120 Question Id : 48558435885 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ3

AT & AP x, p =0, y < 8. x + y < 4 R Fo(Ud 89 &
1. Wyd Iquie ¥ sufes

o Y el gufr o soRes

vy 9gufe 4 ulas

w1 Tty Igufe 7 aRes

| ]
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e

Options :

485584143537. 1
485584143538. 2
485584143539.3
485584143540. 4

Question Number : 121 Question Id : 48558435886 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ3

The solution of 7x = 3(mod 5) 1s:
1.x = 5(mod 5)
2. x=4(mod 5)
3. x = 1(mod 5)
4, x = 2(mod 5)

Options :

485584143541. 1
485584143542. 2
485584143543. 3
485584143544. 4

Question Number : 121 Question Id : 48558435886 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

collegedunia:




Question Key Details :

Key

Value

Comprehension

MCQ3

1. x = 5(HT9S 5)
2. x = 4(TTHIF 5)
3. x = |(HI 5)
4. x = 2(HTUID 5)

Options :

485584143541. 1
485584143542. 2
485584143543.3
485584143544. 4

Question Number : 122 Question Id : 48558435887 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ3

For the LPP Max Z=3x+4y, x +y<40; x + 2y < 60x = 0, y = 0 the solution is :

1.x=20,y=20, Max Z= 140

|

.x=40,y=0,Max Z= 120
3.x=0,y=60, Max Z= 240

4. x=10,y=30, Max Z= 130
Options :
485584143545. 1
485584143546. 2
485584143547.3
485584143548. 4

Question Number : 122 Question Id : 48558435887 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ3

collegedunia:



7x = 3(ATHI® 5) PT8d &

1. x = 5(HTIF 5)
2. x = 4(HTUIE 5)
3. x = L(HTTIP 5)
4. x = 2(HIUTDP 5)

Options :

485584143545. 1
485584143546. 2
485584143547.3
485584143548. 4

Question Number : 123 Question Id : 48558435888 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key

Value

Comprehension

MCQ3

If the mean of the probability distribution 15 5. then the value of k 1s:

X ) k 5
P(X) 02 | 04 | 06
1.1
48]
3.4
4.3

Options :

485584143549. 1
485584143550. 2
485584143551. 3
485584143552. 4

Question Number : 123 Question Id : 48558435888 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key

Value

Comprehension

MCQ3

collegedunia:



gfe Wil de &1 314 5 § df k BT HH &

e 2 k 5
P(X) 02 | 04 | 06
1.3
N
3.4
4.3

Options :

485584143549. 1
485584143550. 2
485584143551.3
485584143552. 4

Question Number : 124 Question Id : 48558435889 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key

Value

Comprehension

MCQ3

ra

4 5 2 : i
Ifa= L Jl 7}. then the sum of the elements of the matrix AAT is:

1.156

| -]

164
3. 146

4,136

Options :

485584143553 1
485584143554.2
485584143555. 3
485584143556. 4

Question Number : 124 Question Id : 48558435889 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key

Value

Comprehension

MCQ3

collegedunia:



aRa-|} 5 A MO AATF e o AR &

1. 156

| S

164
3. 146

4. 136

Options :

485584143553. 1
485584143554. 2
485584143555.3
485584143556. 4

Question Number : 125 Question Id : 48558435890 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ3

3 3 T dv .
If .3, 7 _ 47 (ais a constant) then E 1s equal to :

1 [I'!' ‘I-_I-
x)
1
2 X \'.I
y)
1
3 B
\-\f)
1
a _xF
y)
Options :

485584143557. 1
485584143558. 2
485584143559. 3
485584143560. 4

Question Number : 125 Question Id : 48558435890 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

collegedunia:



Key Value
Comprehension MCQ3

M7t @R T LFTaE

| B
e . )
& -

—
4=l

Options :

485584143557. 1
485584143558. 2
485584143559.3
485584143560. 4

Question Number : 126 Question Id : 48558435891 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ3

Let A and B be symmetric matrices of same order, then which of the following statement 1s true?

L. (A + B) is a symmetric matrix

| )

. (AB) 1s a symmetric matrix
3. (A + B) 1s a skew-symmetric matrix
4. (AB) 1s a skew-symmetric matrix

Options :

485584143561. 1
485584143562.2
485584143563. 3
485584143564. 4

Question Number : 126 Question Id : 48558435891 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

collegedunia:




Question Key Details :

Key

Value

Comprehension

MCQ3

THET A TUT B 90 Sife & JHT g § o 9 1 9 S -9 27 99 62

1. (A +B) 99fd 308 3

(2]

(AB) AT 08 ©
3. (A +B) [qwg 9Hiid 3ogg §
4. (AB) fawa Tmfirg amegg ®

Options :

485584143561. 1
485584143562. 2
485584143563.3
485584143564. 4

Question Number : 127 Question Id : 48558435892 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ3
For matrix A = _: i  the values of x and y so that A% + xI = yA are :
l.x=6.y=8
2.x=8,y=6
J.x=8y=8
4. x=06,y=6

Options :

485584143565.
485584143566.
485584143567.
485584143568.

B WO~

Question Number : 127 Question Id : 48558435892 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ3

collegedunia:



SRR A :_; i] %ﬁﬁxﬁtﬂyﬁﬂﬁﬂﬁm? —xIZ}'AEPf.%:

1.x=6,y=28
2.x=8,y=6
J.x=8,y=8
4 x=6,y=6

Options :

485584143565.
485584143566.
485584143567.
485584143568.

AW N =

Question Number : 128 Question Id : 48558435893 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ3

If§ +3x<|8 +3x|.x €R, then x lies in :

1. (—=, o)

2 —:-:__—3\1'
5

(-3

L N]

(-4

Options :

485584143569. 1
485584143570. 2
485584143571.3
485584143572. 4

iy

Question Number : 128 Question Id : 48558435893 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ3

collegedunia:



m8—3x<32|8—3x.xER.%?ﬁxﬁm%:

1, (—:}::_ :r“)

-2

[

L% ]
G
|
3
|I
=]
i

Options :

485584143569. 1
485584143570. 2
485584143571.3
485584143572. 4

Question Number : 129 Question Id : 48558435894 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ3

For x + y =8, the maximum value of xy is:

1.4

| ]
[=.a]

4. 16

Options :

485584143573. 1
485584143574. 2
485584143575.3
485584143576. 4

Question Number : 129 Question Id : 48558435894 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ3

collegedunia:



x—}'=8$m.x}'ﬁmﬂﬂ%:

1.4

| )
(o]

4.16

Options :

485584143573. 1
485584143574.2
485584143575.3
485584143576. 4

Question Number : 130 Question Id : 48558435895 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ3

The maximum profit that a company can make if the profit function 1s given by

P(x) =32 +24x —18x7 is:

1.48

()

.40
3. 36
4.42

Options :

485584143577. 1
485584143578. 2
485584143579.3
485584143580. 4

Question Number : 130 Question Id : 48558435895 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ3

collegedunia:



U DUl &1 AgHad ard gie ary Bad
P(x) = 32 + 24x 182 [T 81 %

1.48

2. 40

.36

Lad

4.42

Options :

485584143577. 1
485584143578. 2
485584143579. 3
485584143580. 4

Sub-Section Number : 2
Sub-Section Id : 4855842651
Question Shuffling Allowed : No

Is Section Default? : null

Question Number : 131 Question Id : 48558435896 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension Comp?2

A motor boat goes 48 km downstream and comes back to the starting point in 16 hours. If the speed of the
stream 15 4 km'hr, then the speed of the motor boat in still water 1s :

1. 6 km/hr

[ ]

. 8 kv/hr

10 kil

L]

4 5 kin'hr

Options :

485584143581. 1
485584143582. 2
485584143583.3
485584143584. 4

Question Number : 131 Question Id : 48558435896 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value |
Comprehension Comp?2

collegedunia:




U iR §ic B 48 [l oR1 3 vaTg T Sax 9109 30+ X[R3Md & - T 37 16 908 T § | 3f T
D1 el 4 T i Tt 51 Al Hic dic B Qid S H =1l o1 GHi:

1. 6 fpdder
.8 feader
3. 10 fodider
4. 5 foodder
Options :
485584143581, 1
485584143582, 2

485584143583.3
485584143584. 4

[

Question Number : 132 Question Id : 48558435897 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension Comp?2

2.
If _\'=i) and ._1'=l“ then d_l atr=11s:

£ ' ax’

() —
(R

b |

L]
| ko

da |

Options :

485584143585. 1
485584143586. 2
485584143587.3
485584143588. 4

Question Number : 132 Question Id : 48558435897 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value |
Comprehension Comp?2

collegedunia:




afe x=L awr =1 3@ - 1w 4D wramE:

r !‘3

2 -
o | e

[

[ ¥]
| ko

da | L2

Options :

485584143585. 1
485584143586. 2
485584143587. 3
485584143588. 4

2

dx

Question Number : 133 Question Id : 48558435898 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

Comp?2

A coin 1s tossed 5 times. The probability of getting atleast one head 1s:

| ]

Options :

485584143589. 1
485584143590. 2
485584143591.3
485584143592. 4

Question Number : 133 Question Id : 48558435898 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

collegedunia:



Question Key Details :

Key Value
Comprehension Comp?2
U% (9% ®f 5 IR I9Td1 T $H 8 HH T & A DI Wiiedr gril-
i &
32
2 B2
16
i ol
s ——
32
4 B
64
Options :

485584143589. 1
485584143590. 2
485584143591. 3
485584143592. 4

Question Number : 134 Question Id : 48558435899 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension Comp?2

The following data are from a sumple random sample : 1. 4, 7
The point estunate of the population standard deviation is:

12

| )
n

4.3

Options :

485584143593. 1
485584143594. 2
485584143595.3
485584143596. 4

Question Number : 134 Question Id : 48558435899 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

collegedunia:




Key Value
Comprehension Comp?2

FafaRad sits Qg A= Wa=a  : 1, 4, 7 9HY AHS = & a1 fog 5

1.2

| S
L

4.3

Options :

485584143593. 1
485584143594. 2
485584143595. 3
485584143596. 4

Question Number : 135 Question Id : 48558435900 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension Comp?2

A car costing 8,50.000 has scrap value of 31.25,000. If annual depreciation charge 1s 31.45.000. then useful
life of the car 1s :

1. 12 years

[

. 5 years

3. 7 vears
4. 10 years

Options :

485584143597. 1
485584143598. 2
485584143599. 3
485584143600. 4

Question Number : 135 Question Id : 48558435900 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension Comp?2

collegedunia:




U HR 9] BIF 28.50.000 §. BT U6 SIHT 1,25.000 3| TFE AT GG 71.45,000 .40
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11299
5N
3798
4. 1099

Options :

485584143597. 1
485584143598. 2
485584143599.3
485584143600. 4
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Question Number : 136 Question Id : 48558435901 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

s collegedunia:

-



Question Key Details :

Key Value
Comprehension MCQ

Choose the correct statement:
Three charges 2q. —q. —q are located at the vertices of an equilateral triangle. At the centroid:

L. the field 1s zero but the potential 1s non-zero
2. potential 15 zero but the field is non-zero

3. both field and potential are zero

4. both field and potential are non-zero

Options :

485584143601. 1
485584143602. 2
485584143603. 3
485584143604. 4

Question Number : 136 Question Id : 48558435901 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

el Y BT T4 PIFT:
< TR 2q, —q HR —q TP FHETE HYS & WY W ERUG 3 | By & d5o &
faggd &= g & foog faua g e B
fava g & fomg faqga e @ el & |
faggad &3 ik fava ST S = §)
4. fagga &= iR fava e € el €1
Options :
485584143601. 1
485584143602. 2

485584143603. 3
485584143604. 4

—

| )
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Question Number : 137 Question Id : 48558435902 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value |
Comprehension MCQ

collegedunia:




The electric charges are distributed m a small volume. The flux of the electric field through a sphere of radius
10 em surrounding the total charge 15 20 Vm. The flux over a concentric sphere of radius 20 cm will be:

1. 20 Vi
2.25Vm
3.40 Vm
4, 200 Vm

Options :

485584143605. 1
485584143606. 2
485584143607. 3
485584143608. 4

Question Number : 137 Question Id : 48558435902 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

[Eq 3TI=T U & T H [aaikd 31 a9 fok U TH 10 em 5501 & 7iet &1 fagyd &3 &1
URTER 20 Vi & | 20cm FIST aTe] Hep -5 TIiet &1 Ueia GRTI:

1. 20 Vm

| )

.25 Vm

40 Vm

L# 5]

4,200 Vm

Options :

485584143605. 1
485584143606. 2
485584143607. 3
485584143608. 4

Question Number : 138 Question Id : 48558435903 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

collegedunia:




A conducting sphere of radius R 1s given a charge Q. What 1s the electric field and the electric potential at the

centre of the sphere?

1. Q = and Q

4ne, R” 4ne R

| )

—=—— and zero
4ne R

3. zero and
ne, R

4. Both electric field and electric potential are zero

Options :

485584143609. 1
485584143610.2
485584143611.3
485584143612. 4

Question Number : 138 Question Id : 48558435903 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ

U R 51 1 =16 Tl Q ISR 4dl ¢ | el & g ¥ [daggd &4 Ud faggd [dua IR gH § 2

QaﬁqQ

L 3
4re,R* 4re,R

3.9 3R
LT 4me R

4. fagyd &7 vd fagyd fava S g €

Options :

485584143609. 1
485584143610. 2
485584143611. 3
485584143612. 4

Question Number : 139 Question Id : 48558435904 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

collegedunia:



Key

Value

Comprehension

MCQ

Four identical capacitors each of capacitance C are arranged as shown in the figure. What is the effective

capacitance between P and Q?

2C

| )

R

Lh

5
3C
5
2
3
C
4 —
3
Options :
485584143613. 1
485584143614.2
485584143615. 3
485584143616. 4

Question Number : 139 Question Id : 48558435904 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ

collegedunia:
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Options :

485584143613. 1
485584143614.2
485584143615.3
485584143616. 4

Question Number : 140 Question Id : 48558435905 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

collegedunia:



Which of the following statements are correct?

A Electric field lines are always perpendicular to equipotential lines.

B. A zero electric field inside a conducting sphere does not mean that the potential gradient 13 also zero
C. The resultant of two electric fields 15 determined by vector addition of the two field strengths

D. If the field lines get closer together at any place, it means that the field strength is decreasing

E. The resultant potential at a point 1s just the sum of the individual potentials.

Choose the correct answer from the options given below:

1. A. C and E only

| ]

.A.Band D only
3.B.C and E only
4. A, Cand D only

Options :

485584143617. 1
485584143618. 2
485584143619.3
485584143620. 4

Question Number : 140 Question Id : 48558435905 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
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frafaRad fagel 3 951 IIR & 98- HIT;
1. Pad A, C HRE

HAAA, B IRD

3.%au B, C HRE

4. BTAA, C IR D
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Options :
485584143617. 1
485584143618. 2

collegedunia:




485584143619. 3
485584143620. 4

Question Number : 141 Question Id : 48558435906 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

A P-particle is moving perpendicular to the uniform electric field created by a potential difference of
6 » 10° V across parallel metal plates separated by a vertical distance of 6 em. What is the acceleration of the
beta particle between the plates? (Mass of electron = 9.1 x 10> 1kg)

1.1.76 x 1014 m 2

| )

. 1.76 x 1018 m 572

1.8 % 10710y 2

[#¥]

4.18% 1012 mg?

Options :

485584143621. 1
485584143622. 2
485584143623.3
485584143624. 4

Question Number : 141 Question Id : 48558435906 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

U p U1 THM [ded &3 & Traad Tid B2 X616 .51 FH=IR 13 B Tel Bl em B @R I W
TG 9 AR 46 » 10° V & SR ITH 51 5| el & A B-TH 0T T @0l R GIN? (SFSH BT
GO = 9.1 x 103 kg)

1.1.76 x 101 m 572

| B

. 1.76 x 1018 m 72
3. 18 = 10‘16 m 5_2

4. 1.8x 10712 mg2

Options :

485584143621. 1
485584143622. 2
485584143623.3

collegedunia:




485584143624. 4

Question Number : 142 Question Id : 48558435907 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

Two wires of copper have lengths L and 2L and cross sectional area 2A and A. respectively. The ratio of their
specific resistance would be-

1. 1:2

[

. 1:8
3.1:1
4. 1:4

Options :

485584143625. 1
485584143626. 2
485584143627. 3
485584143628. 4

Question Number : 142 Question Id : 48558435907 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

N Bt &1 IR fS@! TraTSal HH: L UG 2L TUT 30 H1e & &% S 2A Ud A §1 3% fafky
yicRief &7 3UTd §HT-

1.1:2

| S

. 1:8
311
4. 1:4

Options :

485584143625. 1
485584143626. 2
485584143627.3
485584143628. 4

Question Number : 143 Question Id : 48558435908 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

collegedunia:




Question Key Details :

Key Value
Comprehension MCQ

The drift speed of electrons in a conductor is estimated to be only a few mm s~ 1, But on closing a circuit, how
current 1¢ established almost mstantly in an electric circuit?

1. Electrons are accelerated towards the positive end of the conductor while their velocity increases towards
the other end

| ]

. Drift velocity of electrons increases

[¥]

. Electric field is established throughout the circuit with the speed of an electromagnetic wave. causing at
every point local electron drift causing current.

4. The electrons drift towards the negative end’

Options :

485584143629. 1
485584143630. 2
485584143631.3
485584143632. 4

Question Number : 143 Question Id : 48558435908 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ
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Options :

485584143629. 1
485584143630. 2
485584143631.3
485584143632. 4

Question Number : 144 Question Id : 48558435909 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

collegedunia:
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Value

Comprehension

MCQ

Six equal resistances each of 4 £ are connected to form a network as shows in figure. The resistance between

A and B would be;

C

1.28
2.4
j.l2qQ
4.1/48
Options :
485584143633. 1
485584143634. 2

485584143635. 3
485584143636. 4

Question Number : 144 Question Id : 48558435909 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key
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Comprehension
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collegedunia:
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.40
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Options :

485584143633. 1
485584143634. 2
485584143635.3
485584143636. 4

Question Number : 145 Question Id : 48558435910 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

A galvanometer having a resistance of 8 Q 1z shunted by a wire of resistance 2 Q. If the current is 1 A, the part
of it passing through the shunt will be:

1.0.25A
2.078A
3.02A

4. 08A

Options :

485584143637. 1
485584143638.2
485584143639. 3
485584143640. 4

collegedunia:




Question Number : 145 Question Id : 48558435910 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

8Q UfARIY aTa U Ted-idie’ &1 20 UfcRiy &t IR T e fosar marn) ofe vaifed YT 1A 8 @l 2T & gRT

TSI aTelt YRT g,

1.0.25A

| S

COTRA
3.02A
4.08A

Options :

485584143637. 1
485584143638.2
485584143639. 3
485584143640. 4

Question Number : 146 Question Id : 48558435911 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

collegedunia:



If three cells are connected n parallel as shown m figure. then equivalent emf would be:
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Options :

485584143641. 1
485584143642. 2
485584143643. 3
485584143644. 4

Question Number : 146 Question Id : 48558435911 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

collegedunia:
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Options :

485584143641. 1
485584143642. 2
485584143643.3
485584143644. 4

Question Number : 147 Question Id : 48558435912 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

Ferromagnetic material core used for transformer must have
1. low permeability and low hysteresis loss
2. low permeability and high hysteresis loss
3. high permeability and low hysteresis loss

4. high permeability and high hysteresis loss

collegedunia:




Options :

485584143645. 1
485584143646. 2
485584143647.3
485584143648. 4

Question Number : 147 Question Id : 48558435912 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ

U TIBTHR & [o0 g Jre 1 U 1S Wgad 61 1gt-
1. F8 urReT=rn ve e It Uit g1

2. e IRt Ud S ey e g
3. 3= YRITdI U4 (Y g Qe g1l

4. 3 IR Ud 3 Jraes g A g1

Options :

485584143645. 1
485584143646. 2
485584143647.3
485584143648. 4

Question Number : 148 Question Id : 48558435913 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ

A bar magnet when suspended horizontally and perpendicular to earth's field experiences a torque of

3 » 107* N m. The Magnetic moment of the magnet would be:

(take horizontal component of Earth's magnetic field at the place 0.4 x 10~ T)

1.7.51T1

5711}

| ]

3.0.751T1

4.0577T!

Options :
485584143649. 1
485584143650. 2

collegedunia:



485584143651. 3
485584143652. 4

Question Number : 148 Question Id : 48558435913 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

TS TS rach Gl & Gredch Y &F B Alfdol Td THad Tedil o TR 3« 1074 N m. e 39U BT 34T
Bl ¢ | TS DI TEDY S0 GRT

(38 RIM R 9241 & R 1g & o1 &fde ged 0.4 < 1074 T B).

175171

i

| )

3.0.751 T}

405771}

Options :

485584143649. 1
485584143650. 2
485584143651.3
485584143652. 4

Question Number : 149 Question Id : 48558435914 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

Which of the following is connected to the coil of the galvanometer, to protect it from possible damages due to
large current ?

1. High resistance wire in parallel
2. Low resistance wire in parallel
3. High resistance wire in series
4. Low resistance wire in series

Options :

485584143653. 1

485584143654. 2

485584143655. 3
485584143656. 4

collegedunia:




Question Number : 149 Question Id : 48558435914 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

[FrafeRad O fed-dier &1 Husdl 4 o S fHar 9 & sifie uRT ualed - R 8 @id 6 o
a1 o eb |

1. ursfepd § S UfeRlY &1 daR
2. e e wieRiy @ AR
3. 9uiiga & 3= wftRiy &1 dR
4. 9uiiep H fFa ufiRiy &1 dR

Options :

485584143653. 1
485584143654. 2
485584143655. 3
485584143656. 4

Question Number : 150 Question Id : 48558435915 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

If a copper wire carries a direct current. the magnetic field associated with the current would be:

1. Only mside the wire

|

. Only outside the wire
3. Both inside and outside of the wire
4. No magnetic field would exists due to direct current

Options :

485584143657. 1
485584143658. 2
485584143659. 3
485584143660. 4

Question Number : 150 Question Id : 48558435915 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

collegedunia:




Key

Value

Comprehension

MCQ

afe Ue did @1 aR § 3y oRT vats € df 59 YR Sefid g & g

1. A IR & 3

2. Had dR & 961

3. IR & 33 Hf 3fF §8r ot

4. {3V YR & DRUI Dls THED Y & SARYUT A6l g1

Options :

485584143657. 1
485584143658. 2
485584143659. 3
485584143660. 4

Question Number : 151 Question Id : 48558435916 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ

A wire 1s bent as shown m figure 1s placed m a uniform field B that emerges from the plane of the paper.

outward as shown. The magnitude of force on the given wire 15 :

oBN OO ©
—R— —R—
@0 0 000 e 6

1. 4BIR

| ]

. BI(zR)

.BIR(2 + )

L]

4, Zero

Options :

485584143661. 1
485584143662. 2
485584143663. 3
485584143664. 4

Question Number : 151 Question Id : 48558435916 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

collegedunia:



Key Value
Comprehension MCQ

[ 9R U IR &1 g6 90 5919 &9 B 1 T@1 .6 TR & §0ad IR 96K i 3R Fep1ed g
| 30 T 9R W &d &1 uRET:

2. BI(nR)

3. BIR(2 + 7)

4. 358

Options :

485584143661. 1
485584143662. 2
485584143663. 3
485584143664. 4

Question Number : 152 Question Id : 48558435917 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

What is the magnetic force acting on a proton (charge +1.6 * 1071°C) moving at an angle of 30° across a
magnetic field of 5.3 x 10 > T at a speed of 3.0 % 10° m 5712

1.1272 x 107°19N
2.13x 10718
3.1272 x 101N
4,22 % 10710
Options :
485584143665. 1
485584143666. 2

485584143667. 3
485584143668. 4

Question Number : 152 Question Id : 48558435917 Question Type : MCQ Option Shuffling : No T« Naction Mandataws .
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

collegedunia:




Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

53x103Td W%ﬁ%@ x10°ms L DITATY SOC'a?aﬂwwrnﬁWﬁﬁwm(chargc

+1.6 x 1071°C) W R Jrab g ge 91 g
1.1272 x 1071* N

13 x10710N

[ ]

3.1.272 x 101N
4.22 % 10716y

Options :

485584143665. 1
485584143666. 2
485584143667. 3
485584143668. 4

Question Number : 153 Question Id : 48558435918 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

The mutual inductance My, of coil 1 with respect to coil 2:

1. depends on the current passing through the coil

| ]

. increases when the coils are brought nearer

3. M, of coil 2 with respect to the coil 1 1s not same
4. increases when any one coil 1s rotated about its axis

Options :

485584143669. 1
485584143670. 2
485584143671.3
485584143672. 4

Question Number : 153 Question Id : 48558435918 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

collegedunia:
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Options :

485584143669. 1
485584143670. 2
485584143671.3
485584143672. 4

Question Number : 154 Question Id : 48558435919 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

In a series LCR circuit an ac voltage source 1s connected. When inductor 1s removed from the circuit, the

T
phase difference between the voltage and the current in the circuit is E If capacitor 13 removed from the

cirrcuit instead of inductor, the phase difference 1s again — . What is the power factor of the circuit?

| ]

= [‘-J|éﬂ Wi | éﬂ|_‘

4,

Options :

485584143673. 1
485584143674. 2
485584143675.3
485584143676. 4

Question Number : 154 Question Id : 48558435919 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value !
Comprehension MCQ

collegedunia:




uiisa H, LCR UNTY 3R ac dleedl Wid aiford {5 70| &/ ooy ¥ tRe &1 g oidl & af ooy |
dieedl 3R YRT H SR %ﬁm:m%mﬁ%w&wﬁm%wﬂwmﬁﬂﬁwﬁmmﬁw

E:T=§ B ST & 1 uRuY 7 2ifcRy 0T a3
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— p ba | —
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Options :

485584143673. 1
485584143674.2
485584143675. 3
485584143676. 4

Question Number : 155 Question Id : 48558435920 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

Match List I with List IT

LIST1I LIST IT
A |Quality factor of a circuit L rg—" . (XL » ]'1 ]‘
B. |lmpedance in an ac circuit 1L (JL(_'_‘}

C. [Resonant frequency of a LCR circuit | IIL [0.314, W4, sin (2eot)
Lﬂstan_tan—eous power supplied to a IV. e, C R_]“ I
capacitor :

Choose the correct answer from the options given below:
1. A-I. B-II. C-III. D-IV
2. A-TLL B-IIIL, C-1, D-IV
3. AT B-IV, C-1, D-I1
4, A-IV, B-1, C-II, D-III
Options :

485584143677. 1
485584143678. 2

collegedunia:




485584143679. 3
485584143680. 4

Question Number : 155 Question Id : 48558435920 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
Tl 1971 gal-1 ¥ e sifee
-1 & I
A. [aftoy &1 feRwai@iferdh Qi | L[R2+ (x, x{_ﬂ'
B. fac URTY & uftfaen IL _Jﬁ)'
C. [LCR URTY &I 3ATa] H1gid 01 [0.5i V7, sint (2cot)
o [FERA®! &l S aredl drceios v -
Qﬂﬁ.‘ﬁ - MJCR]

Fafeaiad el H 9 981 IR &1 9894 BI:

1. A-L. B-II. C-III. D-IV

| B

CA-IL B-II0, C-1, D-IV
3. AL B-IV, C-1. D-II
4. A-IV, B-I, C-II, D-III

Options :

485584143677. 1
485584143678. 2
485584143679. 3
485584143680. 4

Question Number : 156 Question Id : 48558435921 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ

-

s collegedunia:



What is the self inductance of a solenoid of length 50 em, if area of cross section is 10 em? and total number
of turns is 6007

1.1.44 x 1074 H

720 x 107 H

| )

3.288 x 107%H

4.904 x 100%*H

Options :

485584143681. 1
485584143682. 2
485584143683.3
485584143684. 4

Question Number : 156 Question Id : 48558435921 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

A IRATDT BT S HIC BT ETHE 10em? TUT BRI BT HHAT 600 §. AT 50 em T TRATIB] B -
Uehed o1 BT 2

1.1.44 x 100°%H

720 x 1007 H

| S

.2.88 x 107*H

L]

4,004 x 100*H

Options :

485584143681. 1
485584143682. 2
485584143683. 3
485584143684. 4

Question Number : 157 Question Id : 48558435922 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

collegedunia:




Choose the correct statements from the following:

A Induced emf opposes any change in the current in a circuit

B. Induced emf m a closed coil can be increased by increasing the number of turns in the coil
C. Varying current in a coil can not induce emf in a neighbouring coil.

D. An LCR circuit has zero impedance at resonant frequency

E. Average power supplied to an inductor over one complete cycle is zero

Choose the correct answer from the options given below:

1. A, C.D and E only

| ]

.B. C and D only
3. A.B and E only
4. C.D and E only

Options :

485584143685. 1
485584143686. 2
485584143687.3
485584143688. 4

Question Number : 157 Question Id : 48558435922 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

fgfafad ¥ 9gl ®YF &1 999 S

A. fodt uftgy 4 wiifva a.ard yrr & forddt oft oR & ulvad= &1 fodiy sxar g
B. fpdll 5= pusl 1 IR 4,419 1 pugedt & B &1 W& 9 R ¢ Sirel & |
C. U HUsl § gRadl ¢RI g1 FHYad! $usdl H fd.d1d & URd 9l &R 9hdi g |
D. WWWWLCRWUﬁWWW%I
E. [t UR® 1 U s IR0 P2 TR af o arail AEFI LA G
Fafead fae el ¥ 9 981 SR &1 99 Sl :
1.$ad A, C.D AR E
. Had@B. C3ARD
. Pad A, B3RE

4. H9AC,DIARE

2

5]

Options :
485584143685. 1
485584143686. 2

collegedunia:




485584143687. 3
485584143688. 4

Question Number : 158 Question Id : 48558435923 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

An alternating voltage V = 140 sin 100 mt 1s connected across a pure resistor of resistance 40 . What 13 the
rms current through the resistor? (Take v2 = 1.4)

1.35A

| S

.2.5A
3.49A
4.01A

Options :

485584143689. 1
485584143690. 2
485584143691.3
485584143692. 4

Question Number : 158 Question Id : 48558435923 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

40 @ TIRIY & g HIaRIY® & WY V = 140 sin 100 nt dlecdl DI GAIreTd fbar 7| wieRiy o wared
rms HRTHET BRI (V2 = 1.4)?

1.35A

| ]

.2.5A
3.49A
4.01A

Options :

485584143689. 1
485584143690. 2
485584143691. 3
485584143692. 4

Question Number : 159 Question Id : 48558435924 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

collegedunia:




Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

A flask contams Argon and Chlorine i the ratio of 2:1 by mass. The temperature of the mixture 15 27°C. The
ratio of root mean square speed of molecules of two gases will be : (atomic mass of Argon =40 u and
molecular mass of Chlorine = 71 u)

1.1.78
2.1:33
3.2
4.1

Options :

485584143693. 1
485584143694. 2
485584143695.3
485584143696. 4

Question Number : 159 Question Id : 48558435924 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

U Ul H S SR o SoddH & S8R 2:1 & SUId J 36 75| %01 &1 dargq= 27°¢ 8]
T & (UL T TS ATed 91e &1 0T B
(3171 ST URHIY] SoHM =40 u 3R FRIH BT Ugs go0qH = 71 u)

1. 1.78

| R
—_
(5]
(9%

L S]
[ ]

4.1

Options :

485584143693. 1
485584143694. 2
485584143695.3
485584143696. 4

Question Number : 160 Question Id : 48558435925 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :
|Key Value

collegedunia:




|Comprehension IMCQ

Which of the following statement 15 not true for the electromagnetic waves?

1. These waves have momentum

| ]

. These waves travel at different speeds in vacuum depending upon their frequency
3. These waves transport energy
4. These waves travel at different speeds in a medium depending upon their frequency.

Options :

485584143697. 1
485584143698. 2
485584143699. 3
485584143700. 4

Question Number : 160 Question Id : 48558435925 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

Frafafad § &F @ oy gy e o & g 98 T2 e
1. g9 a1 § G S 3
2. T T 3Mafa & SmuR wR i firs =ret § fafa § oRd B
3. 0 T Il T Bl 3

4. T T4 firs =ret € mery § eRd §

Options :

485584143697. 1
485584143698. 2
485584143699. 3
485584143700. 4

Question Number : 161 Question Id : 48558435926 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

collegedunia:




Which one of the following cannot be polarised?

1. v -rays

|

. Sound waves
3. Microwaves
4. Ultraviolet rays

Options :

485584143701. 1
485584143702. 2
485584143703. 3
485584143704. 4

Question Number : 161 Question Id : 48558435926 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

3 o farereT y@u Tel 51 9l 2
1. 77747 fepeuf
RsIEREa
gEA T
4. TRIGTT TRl
Options :
485584143701. 1
485584143702. 2

485584143703. 3
485584143704. 4

[ ]

[¥5]

Question Number : 162 Question Id : 48558435927 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

collegedunia:



Choose the correct formula for magnifying power of a sumple microscope from the following

1.m=1—E
2. m=1--E
f
Im=1 —i
d
4. m:I—f
d

Options :

485584143705. 1
485584143706. 2
485584143707. 3
485584143708. 4

Question Number : 162 Question Id : 48558435927 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ

frafeRad o SryRY geaasi @1 Had- aar B 98 ga

1.m=1—E_
f
2.m=1-~E
F
J.IT]—1—£
d
_"I.rn:'l—-—i
d

Options :

485584143705. 1
485584143706. 2
485584143707.3
485584143708. 4

Question Number : 163 Question Id : 48558435928 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ

collegedunia:



Light from a pomt source in arr falls on spherical glass surface (n = 1.4 and radius of curvature 20 em). The
distance of light source from the glass surface 1s 150 cm. At what position 1s the image formed?

1. 150 em from glass surface in the direction of incident light

[

. 105 em from glass surface in the direction of mcident light
3. 150 em from glass surface towards light source
4. 105 em from glass surface towards light source

Options :

485584143709. 1
485584143710. 2
485584143711.3
485584143712. 4

Question Number : 163 Question Id : 48558435928 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

arg H T U fdg 9id 9 Bl &1 Yag TR YD1 TRl 8 (u=1.4 3R bl 51 20em) | P19 &1 Ueig §
Yeh T2l Hid B G31 150 em B | Widfare fog A R g4

1. 3Mmufcrd foxur &1 f&=m o &id ot Tds 9 150 em DI gH W
2. ATfad foxor &t fo=n & &id &1 a8 ¥ 105 cm B gl TN
3. ®id B Udg U 150em B G R IR HId DI 3R
4. P19 I HAE ¥ 105em P g3 TR UHTR HId DI 3R

Options :

485584143709. 1
485584143710. 2
485584143711.3
485584143712. 4

Question Number : 164 Question Id : 48558435929 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

collegedunia:




Match List I with List IT

LISTI

LISTII

Frequency is the characteristics

Due to dispersion of light

Medium of travel of light

Source of light

AT L
of

B [n a soap bubble colours are I
seen

C. |Wavelength depends on 1T

D |In a prism colours appear V.

Due to interference of
light

Choose the correct answer from the options given below:

4,

1.

5

L]

AL B-1IL C-I. D-IV

CA-TLL B-IIOL C-IV, D-I

CA-IV. B-IO0L, -1, D-II

A-TIIL B-IV, C-I1, D-1

Options :

485584143713. 1
485584143714.2
485584143715. 3
485584143716. 4

Question Number : 164 Question Id : 48558435929 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
I 1 D1 AT 11 ¥ e Bifey
T 1 T I
A |amafaaame L |vee & faaun & srRu
B. | 919+ & gefqel & U1 e ad | 11 | WehT &1 H1e H HaRul
C |Toed A adie 11 | Jebrer Fid
D. |frsadmfeEs ta B V. | USY & SAGH & RO

FFafeiad fdeedi d 9 Hgl IR &l 99 Sl -

1

| )

AL B-I1. C-1. D-IV

CA-IL B-IIIL, C-IV, D-I

CA-IV, B-1I1, C-1, D-II

CACITL B-IV. C-I1, D-I

-

s collegedunia:



Options :

485584143713. 1
485584143714. 2
485584143715.3
485584143716. 4

Question Number : 165 Question Id : 48558435930 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ

For a glass prism (g =3). the angle of minimum deviation is equal to the angle of prism. What is the angle of

prism?

!q
w|sa &8 ool

Options :

485584143717. 1
485584143718.2
485584143719. 3
485584143720. 4

Question Number : 165 Question Id : 48558435930 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ

collegedunia:



U B & O (4= 3). TATH faaa v fires & $ivr & RIeR ©.f05T & S0 &1 Hrr TH 82

T
1._
6
T
'_J“_
4
T
3._
3
.
4,ﬂ
3

Options :

485584143717. 1
485584143718.2
485584143719.3
485584143720. 4

Question Number : 166 Question Id : 48558435931 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

A parallel beam of light of wavelength 500 nm 1s incident normally on a slit of width d. If the distance
between slit and sereen 1s 0.6 m and distance of second order minimum from the centre of the screen 1s
6.0 mm. What 1s the width of the shit?

1. 0.1 mm

| )

. 0.7 mm

. 0.2 mm

Lad

4. 0.5 mm

Options :

485584143721. 1
485584143722. 2
485584143723.3
485584143724. 4

Question Number : 166 Question Id : 48558435931 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

collegedunia:




500 nm TG BT U YT Goi'd' HIeTgep! -1 R SHfiyera Smdfad gial &1 fd i3 ud Re & &g 1
X1 0.6 m 3R U & A ¥ fGcdia S 3 a9 28 6.0 mm 8 @ B3R @1 s F®1 g

1. 0.1 mm

| S

0.7 mm

2 1mm

[ 5]

4. 0.5mm

Options :

485584143721. 1
485584143722.2
485584143723.3
485584143724. 4

Question Number : 167 Question Id : 48558435932 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

Two polaroids Py and P, are set m crossed positions. A third polaroid P is placed between the two making an

angle o with the axis passing from the first polaroid Py. In what orientation will the transmitted intensity be
maximum?

!_q
Hla wla o)A

s
o

Options :

485584143725. 1
485584143726. 2
485584143727.3
485584143728. 4

Question Number : 167 Question Id : 48558435932 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

collegedunia:




P, TYUT P, & &l UltRigs o1y fRUfd H ey MY 15 S1H1 & A Ugd UleRigs Py U & Q= o DI

§1d §U AR UITRIS S p; @1 11| {$F ffe-arg 5 Taid Yol of digdn sifteda gl

|

!J

B8 wa o

4.0

Options :

485584143725. 1
485584143726. 2
485584143727.3
485584143728. 4

Question Number : 168 Question Id : 48558435933 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

Which of the following statements are correct?

A Number of photoelectrons emitted per second 1s directly proportional to the intensity of incident
radiation

B. Cut off potential 1s the minimum negative potential given to the plate for which photocurrent becomes
maximuim

C. For a given frequency of the incident radiation, the stopping potential 1s mdependent of 1ts intensity

D. Even for the exceedingly dim incident radiation apparent time lag is ~ 107°s or less

E. Photons are electrically neutral and are not detlected by electric and magnetic fields

Choose the correct answer from the options given below:

1. B and D only
2.A.C.D and E only
3. A. B and E only
4 A.B.C.DandE

Options :

485584143729. 1

485584143730. 2

485584143731. 3
485584143732. 4

collegedunia:




Question Number : 168 Question Id : 48558435933 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
Frafarad syt & 1 o FuE 9wl 8

A. VI o8 Ifold gaige [l &1 Tvean safd f6vur & digar & S=PHHurd gldl g |
B. Fraas 31 v 9 e &R v uRT sftieras 81 1 8. 3@ 94 Fear o
C. fmafad fafdxo &t €1 115 snafa & fog dee fayd digdr W ARk 781 Sl |

D. AT T TG A0 9 S T Sad~ 10 % 31 39 HH sl g |

E. B f[dggdig-3ari gial 3 SR fdgga au1 Jree ™ &4 1 fadfad Te1 gid |

fFafoRad famedt & el famedt o1 =g By
1. Had B 3R D
2.Pad A, C.D HRE
3. $adA.BRE

4. A.B.C.D3IRE

Options :

485584143729. 1
485584143730. 2
485584143731.3
485584143732. 4

Question Number : 169 Question Id : 48558435934 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

A body oscillate with SHM according to equation (SI unit),
x = 10cos (2mt + m/4)
at t= 1.5 s, calculate the speed of the body.

1.44ms!

1

| ]

L22ms”

10ms!

[¥¥]

4. 5mg’!

Options :
485584143733. 1

collegedunia:




485584143734.2
485584143735. 3
485584143736. 4

Question Number : 169 Question Id : 48558435934 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ

TR0 & STER U [UUS A &Ier Td & |1 e Xl 3 | (SI 5PTs)

x = 10cos (2mt + m/4)

t= 1.5 s, dl [UUS &I TT B TUHET BT

1.44ms!

2.22ms!

3.10ms!

4. 5mys!

Options :

485584143733 1
485584143734. 2
485584143735.3
485584143736. 4

Question Number : 170 Question Id : 48558435935 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ

What 1s the de Broglie wavelength associated with an elector accelerated through a potential difference of

1447

1. 0.0102 nm

[

. 1.022 nm
3.0.0102m

4, 0.102 nm

Options :

485584143737. 1
485584143738. 2
485584143739. 3
485584143740. 4

collegedunia:



Question Number : 170 Question Id : 48558435935 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

144 V & fGyara gRI fardt saidel- 3 wiaiia Sl-siwelt a3 ol Far gt

1. 0.0102 nm

[ ]

. 1.022 nm

.0.0102 m

Lad

4, 0.102 nm

Options :

485584143737. 1
485584143738. 2
485584143739. 3
485584143740. 4

Question Number : 171 Question Id : 48558435936 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

Choose the correct statements from the following:

A. The minimum energy required to free the electron from the ground state of the hydrogen atom 1s 13.6 J

B. The principle quantum number n labels the stationary states in the ascending order of energy

C. Bohr gave the basic idea of discrete energy levels

D. de Broglie hypothesis provided an explanation for Bohr's second postulate for the quantization of angular
momentum of the orbiting electron

E. line spectrum provides useful information about the atomic structure.

Choose the correct answer from the options given below:
1. A, C.D and E only
2. A, B and D only
3.B.C.D and E only

4. A and E only

Options :

485584143741. 1
485584143742. 2
485584143743. 3

collegedunia:




485584143744. 4

Question Number : 171 Question Id : 48558435936 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
frafead o 9gt HYH BT =984 SIS

A. BTSgIoH TRET] B FHaH ARl I sude Jad B3 & [0 31awdd FAd9 391 13.6 7

B. 391 & ARIG! o0 H g&=

HicH a7 .0 R 3w & SFd Hdi 1

C. §IgR | g [G9R YR & S 9R 36l Wk <P sl 4 [auIied 3
D. SI-gil7ell HTYRUN A digx & g8l AR Sl oI Pl T Baitd gaidgi—l ol HIvig Ha7 Sididd

SR

E. T3 WaeH AT IRTHT & aR H TGN I&1 a1 8|
frafeRad fdeedl § 981 STR &1 994 HIeU:

1. $addA. C, D ARE

Pad A, B 3R D

. HaAB. C.D ARE
4. $dd A RE

Options :

485584143741 1

485584143742, 2

485584143743. 3
485584143744. 4

[ ]

L]

Question Number : 172 Question Id : 48558435937 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

p——=ntv+ A

In this nuclear reaction A 15 a/an:

1. electron
2. gamma ray
3. positron

4. anti neutrino

gcollegeduniag

-



Options :

485584143745. 1
485584143746. 2
485584143747.3
485584143748. 4

Question Number : 172 Question Id : 48558435937 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ

p——=nt+tv+ A

=9 TSy il 7§ A Uh

1. geragH
2. 77T fahvu
3. GITeigH

4. gfa =gfeAt

Options :

485584143745. 1
485584143746. 2
485584143747.3
485584143748. 4

;a_‘LI,JJ

Question Number : 173 Question Id : 48558435938 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ

The nuelear force 1s:

1. independent of the nuclear charge

| )

3. short range weak force

. are central forces, independent of the spm of the nucleons

4. the strong forces between electron and proton bound i a nucleus

Options :

485584143749. 1
485584143750. 2
485584143751. 3
485584143752. 4

collegedunia:



Question Number : 173 Question Id : 48558435938 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

iy §d gl
1. g ae | Ak s
2. B0 9 § off gaaitaii= & goiA or Fdk T8 e

3. B WS gad ad

4. A1y H €f¥d Uil Ud geiaciH & ol & Udd dd
Options :
485584143749. 1
485584143750. 2
485584143751. 3
485584143752. 4

Question Number : 174 Question Id : 48558435939 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

After 4 hours, — of the initial amount of a certain radioactive isotype remains undecayed. What 1s the half life

of the isotope?

1. 15 min

| ]

. 30 min

.45 min

[¥]

4. 60 min

Options :

485584143753 1
485584143754. 2
485584143755.3
485584143756. 4

Question Number : 174 Question Id : 48558435939 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

collegedunia:




Key Value
Comprehension MCQ

4ﬁ%ﬁium.wmwﬁaﬁiﬁwmﬁi a1 4T Sffdeed I8 a1 SHIHS $i
Hefarrg =y grik

1. 15 firFe

2,30 1e

3. 45 fiFe

4. 60 T

Options :

485584143753. 1
485584143754. 2
485584143755.3
485584143756. 4

Question Number : 175 Question Id : 48558435940 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

Why do light emitting diodes are preferred over conventional mcandescent low power lamps?

1. High operational voltage and less power

| )

. Short life and ruggedness
3. The bandwidth of emitted light 15 10 nm to 50 nm
4. Warm up time required

Options :

485584143757. 1
485584143758. 2
485584143759.3
485584143760. 4

Question Number : 175 Question Id : 48558435940 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

collegedunia:




TPTR] Il SIS B IRARTTA JAH eIt ded ! st Fi mufidar 4 oIt g
1. AP HIERA dleedl 3R HH &Hdl (FF0)d SR
2. %Y 3G UG Hefgd| & BRI
3. IgTod UHTR &1 48 1875 10nm H 50nm B
4. THEH & o0 gHg ®f awaaT eidl o

Options :

485584143757. 1
485584143758. 2
485584143759.3
485584143760. 4

Question Number : 176 Question Id : 48558435941 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

- - 1013 43 - ; -3
A semiconductor has an electron concentration of 8 » 1012 m ™ and hole concentration of 2 * 10° m™ . The
semiconductor behaves as:

L. n- type semiconductor

| )

. p - type semiconductor

. intrinsic semiconductor

L]

4. p-1 junction

Options :

485584143761. 1
485584143762.2
485584143763. 3
485584143764. 4

Question Number : 176 Question Id : 48558435941 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

collegedunia:




U 31efaTerd o goiae - WKl § x 1013 m™ qUI A WG 2 « 10° m~ §1 Sid=e® &I B
TAGR Tl &

1. n- YBR & Hd=rasd
2. pUPR & fefETaE
3.9 SreETE®

4. p-n FIY

Options :

485584143761. 1
485584143762. 2
485584143763.3
485584143764. 4

Question Number : 177 Question Id : 48558435942 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

The forbidden energy band gap mn conductors, semi conductors and msulators are Eqy Eg, and E3.
respectively. The relation among them 1s

1.Egy > Egy = Egs
2 Eg1=Eg=Egs
3.Eg1 =Egy=Egs
4.Eg; <Egy > Egs

Options :

485584143765. 1
485584143766. 2
485584143767.3
485584143768. 4

Question Number : 177 Question Id : 48558435942 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

collegedunia:




e, ST Ud DT § Hitg 3ol 60 3RIe HH: Egy Eg, U6 Egs. 8. 5778 TR 95Y -

1. Eq; > Egy > Egs

2.Eq1<Eg2<Egs

3.Eg1 =Eg2=Eqs

4. Eqi<Egy > Egs

Options :

485584143765. 1
485584143766. 2
485584143767.3
485584143768. 4

Question Number : 178 Question Id : 48558435943 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key

Value

Comprehension

MCQ

The truth table for one of the following logic gates 1s given. Identify the logic gate

Output
Input

Y

»—-»--C)D;i-
o =1 ] =1 I #5}

1
1
1
0

1. AND gate

| ]

. NAND gate

L]

. NOR_ gate

4. OR gate

Options :

485584143769. 1
485584143770. 2
485584143771.3
485584143772. 4

Question Number : 178 Question Id : 48558435943 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

collegedunia:



Key Value
Comprehension MCQ

difsre Tic & fere PafeRad gaam Rl €t 12 & 1@ifeis Tic &1 yg=u

Cutput
Input
A | B Y
0 | 0 1
0 | 1 1
1| 0 1
T | a 0
1. AND TIc
2. NAND 7
3.NOR T
4. ORTIE
Options :

485584143769. 1
485584143770. 2
485584143771. 3
485584143772. 4

Question Number : 179 Question Id : 48558435944 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

collegedunia:




Match List I with List IT

LISTI LISTII
A |Repeator I. |converts one form of energy into another
8. [Bandwidih I inform_ation converted 1::1 glemrical form
and suitable for transmission
A combination of a recetver and a
C. |Transducer II1. R—
D. lsicnat v p.ortion of the spectrum occupied by the
= signal

Choose the correct answer from the options given below:

1.

5

L]

4,

Options :

485584143773. 1
485584143774. 2
485584143775. 3
485584143776. 4

A-TV, B-III. C-II, D-I

AL B-IV, C-1L D-II

CA-IL B-IIIL C-IV, D-I

AL B-1, C-II, D-IV

Question Number : 179 Question Id : 48558435944 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ
I 1 D1 AT 11 ¥ e Bifey
T 1 T I
A |TmEl I | Us UHR @1 391 Bl gux 1 gRafdd &1
B. |[svsdisy | I | a1 &l ¥=RU & foru 3yt faggd =0 o uiadA
C |gisg®R | UL |7l Ud S &I Yo
D. | udi® IV. | Udlieh gR1 3HATEd TaeH &1 $o Y

FFafeiad fdeedi d 9 Hgl IR &l 99 Sl -

1

| )

ATV, B-1I1, C-II, D-1

AL B-1V, C-1. D-II

CA-IL B-IIIL C-IV. D-1

CA-IIL B-IL C-I1, D-IV

-

s collegedunia:



Options :

485584143773. 1
485584143774. 2
485584143775.3
485584143776. 4

Question Number : 180 Question Id : 48558435945 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

A transmitting antenna at the top of a tower has a height 18 m and the height of the receiving antenna 1s 32 m.
What 1s the maximum distance between them for satisfactory communication in line-of-sight mode? Given

radius of earth is 6.4  10%m

1.3341um

| ]

.354m

354 Ian

L]

4, 335m

Options :

485584143777. 1
485584143778. 2
485584143779. 3
485584143780. 4

Question Number : 180 Question Id : 48558435945 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

ot TR T GaRd T &1 $T15 18 m 3R TTe! T Bl $d1% 32 mo | @57 U4 e HIg §
AP T D Ay siftpad gt o gl gedt of A3 6.4 « 10%m

1.3341um

2.354m
3.354km
4,335m

Options :

485584143777. 1
485584143778. 2
485584143779.3

collegedunia:




485584143780. 4

Question Number : 181 Question Id : 48558435946 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ

Two protons P and Q are placed between two charged plates A and B as shown. then

A B

+ + + + + +
w
|

1. P experiences more force as closer to positive charged plate
2. QQ experiences more force as closer to negative charged plate
3. Both experiences same force towards right hand side

4. Both experience same force towards left hand side

Options :

485584143781. 1
485584143782. 2
485584143783.3
485584143784. 4

Question Number : 181 Question Id : 48558435946 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ

collegedunia:
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Options :

485584143781. 1
485584143782. 2
485584143783.3
485584143784. 4

Question Number : 182 Question Id : 48558435947 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

Two sitar stings A and B playing a note are slightly out of tune and produces beats of frequency 5 Hz. The
tension in string B 1s slightly increased and beat frequency become 3 Hz. What is the original frequency of B
if frequency of Ais 427 Hz.

1.432 Hz

| )

.430 Hz

.424 Hz

Lad

4. 422 Hz

Options :

485584143785. 1
485584143786. 2
485584143787.3
485584143788. 4

collegedunia:




Question Number : 182 Question Id : 48558435947 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

AR #5121 TR A 3R B 99T & TR $% 9930 81 9l © 3R 5 Hz $1 319 &1 a1 (@) 3 8idl o
R B H UIS1 0714 S P W a1d Sqid 3 Hz 51 91 6 | A7 A B 3191d 427 Hz §1 I B ® adid®

H1qfcr =1 gt

1. 432 Hz

| )

.430 Hz

424 Hz

fad

4,422 Hz

Options :

485584143785. 1
485584143786. 2
485584143787. 3
485584143788. 4

Question Number : 183 Question Id : 48558435948 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

The electric field vector oscillates according to the equation £ = 4sin[l.3 y+ [i5.4xlﬂﬁ}r]!;,. The equation of

magnetic field vector 1s:

1.B=I _33xm‘“_~:in[1 8y 4 |15_4><|ﬂ('}f:|;
i 4sin[| 8y +(5.4% m")z}j
3. B=133x10"% sin[l.sy (5.4 m“):}é
4.8 :Ssin:l By +(5.4x m")f}j‘

Options :

485584143789. 1
485584143790. 2
485584143791.3
485584143792. 4

Question Number : 183 Question Id : 48558435948 Question Type : MCQ Option Shuffling : No *- 3~~~ *"-—*-*-—-
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

collegedunia:




Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

e faqyd & <1 TS THIRT £ = 4sin[ 1.8y +(5.4x10°)¢ 4. & STHR S0 el §1 Traobid & e
! JHIE ¢

1. B=133x m‘“sin[l_x_v H(5.4% m")z]f
2. B= 4sin[| 8y 4 (5.4x|ﬂ(’Jr]f
3. B=1.33x107¢ sin[l.ﬁy (5.4 m“)r}(—
4. E:.ﬁsin:l.x_y - (5_4xm‘-')r}j

Options :

485584143789. 1
485584143790. 2
485584143791. 3
485584143792. 4

Question Number : 184 Question Id : 48558435949 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

At what distance should an object be placed from a convex lens of focal length 15 em to obtain a real image
three times the size of the object ?

1. 10 em
2. 20 em
3.40 ¢m

4,50 em

Options :

485584143793. 1
485584143794. 2
485584143795. 3
485584143796. 4

Question Number : 184 Question Id : 48558435949 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

|Key Value

collegedunia:




|C0mprehension

[MCQ
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1. 10 em

[ )

.20 cm

.40 em

[¥5]

4. 50 cm

Options :

485584143793. 1
485584143794. 2
485584143795.3
485584143796. 4

X R 31 WU b g9 o1 & PR &1

Question Number : 185 Question Id : 48558435950 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ
Match List I with List IT
LISTI LISTII
A Mass of alpha particle| I |1.00727 u
B. Mass of proton II. 4.00260u
C. Mass of neutron III. |0.00055 u
D. PMass of electron IV. 1.00866 u

Choose the correct answer from the options given below:

1. A-III., B-1. C-IV, D-II
2. AL B-IV. C-I, D-III
3. A-IL B-1. C-IV, D-III
4. A-1, B-IIT, C-II. D-IV
Options :
485584143797. 1
485584143798. 2

485584143799. 3
485584143800. 4

Question Number : 185 Question Id : 48558435950 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks
Question Key Details :

01
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Key Value
Comprehension MCQ
= 1 BT ga 11 F e spifore
T 1 Tt 11
A. | srep1 wort @ gegHF| Lo [1.00727 u
B. | OielH &1 zo0dH 1L Ja.00260 u
C. | g2 &1 seaaH I1I. [ 0.00055 u
D. |SoRH I GIHA | IV | 1.00866 u
FFafaRad faeedl @ 9 Wgl SR &1 999 Sl -
1. A-IIL B-1. C-IV, D-II
2. A-IL, B-IV, C-I, D-III
3. A-IL B-L C-IV, D-III
4. A1, B-III, C-II, D-IV
Options :

485584143797. 1
485584143798. 2
485584143799. 3
485584143800. 4
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